(k9] - )

202549 (A)

58,379,910

20243 (B)

65,008,502

s (A-B)

26,628,592

53,189,317
46,034,073

60,233,029
51,834,669

A7,043,712
25,800,596

90,033
22,218

83,195
20,330

6,838
1,888

210-15

210-01
210-07
210-07
230-02

100,000 x 127 =

50,0009 X 4F=
50,0009 X507 =
500,000 X 1t X 23] =
15,0009 X507 x 23] =

6,400
1,200
1,200
1,200
5,200
5,200

200
2,500
1,000
1,500

6,400
1,200

5,200

0
0

13,258

11,340

1,918

210-01

210-06
210-07
230-02
210-01

210-01
210-01

210-06
210-07
230-02

50,0009 X5F x 23] =

160,000 X 27 X 2A] 7k X 23] =
1,000,0004 X 2th=

3,0009 X150 X 13 =
250,000¢ X 123]=

50,0009 X 12%=
5,000¢ X 64 5=

160,0009 X 29 X 24| 7+ < 13] =
950,000¢ x 2t =
9,0009 X501 x 23] =

12,258
4,230
500
1,280
1,280
2,000
450
3,000
4,360
600
320
640
640
1,900
900
668

10,340

1,918
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(9] ")
X i=]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
) eolaF 210-01 |50,0009 x 28] = 100
2) AT 568
b 71 210-06 |100,0009 x 19 x 24| 7k x 23] = 400
W) s 210-06 |14,00090 X 3 x 17 X 2417+ x 23] = 168
2. AR usds 1,000 1,000 0
7F. AARR Z Q] w5 7 ) 210-01 1,000,0009 x 18] = 1,000
ey e X 2,560 2,590 230
1. ¥ &3 FA A5 FAT 2,560 2,590 A30
7h WA AP A 2,560
1) == A = 210-01 |42,4509x53%= 2,250
2) A (dnh) 250
7 71 E 210-06 |100,0009 % 1% x 2A] 7k x 1 3] = 200
W) =3 210—06 50,0009 X 1% X 1 A3k x 18] = 50
3) g 210—06 |10,00090 x 31} X 178 X 24| 7k x 18] = 60
A YAA} 22,190 22,145 45
T AT 19,230 19,230 0
1. 25 EA 1,100 1,100 0
7} AT EA 1,100
1) $o3gx 210-01 |50,0009 x 3% = 150
2) A4t 210-06 |100,00091 x 47 x 23] = 800
3) 9|3 230-02 |15,0009 x 109 = 150
2. AFAD) A 482G 1,200 1,200 0
7t AL 2 F] 1,200
1) $ojg= 210-01 |50,0009 X 2% x 28] = 200
) FM 2t} 210-06 |100,0009 x 47 x 23] = 800
3) & 9] 3 230-02 10,0009 x 109 x 23] = 200
3. AAN ALY 1,200 1,200 0
7h. A 21 3] 1,200
D ZArd 210-06 |100,0009 x4 x 33| = 1,200
4. w5 EF 7}t 1,500 1,500 0
7F WA FIR ] 2 1,500
R 210-01 (50,0009 x 4%= 200
W& - FolH2F TS — AAAALE — WA AJAL — L AJNAFEE]
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3/62

7|88 AlEd5 27 UHYA
EH AR =g w57
AU S A= A o 20259 (A) | 2024 (B)

2) I 210-06 |100,0009 x5 x 23] = 1,000

3) 93 230—02 |15,0009x 107 x23]= 300
5. 2 ¢F#E 2,340 2,340

7h S St 940

1) $98=% 210-01 |50,0009x11%= 550

2) X4 210-06 |100,000€ X3 X 13]= 300

3) d23 230—-02 |15,0009 X6 = 90

(B EA R R R S 1,400

1) 982 210-01 |50,0009x11% x238]= 1,100

2) 393 230-02 |15,0009 X107 x 23] = 300
6. TPAALYFZ=2 11,890 11,890

VA= SRR I PN S R 6,380

1) 98 210-01 |50,0009 X 6% = 300

2) AESY 210-06 |40,0009 X7 X 203] = 5,600

3) 3 3]§] 230-02 [15,0009 x16™ x23]= 480

U, 5w deaatd F-521 5,510

1) 98 210-01 |50,0009 x 2% = 100

2) A=A = 210-01 |5,0009 X 264-= 130

3) AESG 210-06 |40,000€ X 67 X 203] = 4,800

4) ?‘§9J§] 230—-02 [15,000€¥ x16™ x23]= 480
2R Y9I 1,050 915
1. AT FdAA#I AL 1,050 915

7F. QAR ¢ 8] 1,050

1) £98=% 210-01 |50,0009 x 2% x 38 = 300

2) ZA 4} 210-06 |100,000€ X 17 X 33]= 300

3) ¥23 230-02 |15,0009 X107 x 33]= 450
ZEAQIALZ 1,910 2,000
1. 53 5FA AU 990 990

7h WSF A LA A 3] 990

1) 98 210-01 |50,0009 X 7%= 350

2) X4 210-06 |100,0009 X 14 X 43]= 400

3) ge §] 230—02 [15,0009 x4 x43]= 240

A — foldxFETS — WA YQJAAL — & AAA ]




At Sl e 2025 (A) | 20249 (B) #(A-B)
2. 5 FA LA LA 920 1,010 290
7 BT FA AT A S -
1) 8% 210-01 |50,0009 % 10%= 500
2) AAEE 210-06 |40,0009 x 23 x 33| = 240
3) o3 230-02 |15,0009 x4 x 33]= 180
45,625 40,720 4,905
ABR) AL 45,625 40,720 4,905
1. 33535389 6,000 6,000 0
b A3 EEAY 240-01 |2,000,0009 x 371 = 6,000
23 QB S AP 5,560 3,520 2,040
b RH IR e 5,560
1) $98% 210-01 |50,0009 x 15%= 750
2) ZAr (R 1,500
7h 7= 210-06 |160,0004€l X 17 X 32|13k x 28] = 960
W) 3} 210-06 90,0009 x 11 X 3|7k x 23] = 540
3) Y8 210-06 10,0009 x 3ull X 17 X 3A| 3k x 23] = 180
4) ZFARA B A 8] 210—06 (65,0009 X1 x23]= 130
5) A& 210-15 30,0009 x50 x 28] = 3,000
3. ASEERT 34,065 31,200 2,865
7h A mAR T 9 A58 34,065
1) tiE S A 210-01 |400,0009 x 173 x 38]= 1,200
2) S0 gx 210-01 |100,0009 x4 x 23] = 800
3) H718 210-01 |150,00091 x 3417k x 208] = 9,000
4) FH 5 21,000
71 71 210-06 |100,0009 x 778 x 20%] = 14,000
W %3} 210-06 50,000 % 77 x 20%] = 7,000
5) A1 2] A 210-06 |8,000¢1 7 x 203] = 1,120
6) g3 230-02 |15,0009 % 21 x 38| = 945
5 2,385,022 2,701,363 ~316,341
1,445,866 1,845,136 £399,270
TEHALYA L 1,427,758 1,268,286 159,472
1. 250 5AALFAT 4,980 4,980 0
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AR e % Hd)
A A= AEUE 2025 (A) | 2024¢ (B) #(A-B)

7k mE A A 940
1) $98=% 210-01 |50,0009 X 6% = 300
2) ZEAER (L) 640
7hH 71E 210—-06 |160,00049 x 2% X 2417k x 18] = 640
o ml o d 1010
1) 998 210-01 |50,0009 x 8% = 400
2) TA 7] 210-01 | 10,000€ X707 x 23] = 1,400
3) Ak (LR 640
b 7 E 210-06 |160,000€ x 27 x 247k x 18] = 640
4) NI A= 210-07 [100,0009] x 24 x 83] = 1,600

2. 35 LA LI AT 4516 4516 0
7h mE I A Y 1,240
1) e 210-06 |40,00091 x5 x535]= 1,000
2) 393 230-02 |15,0009x 16 = 240
o wE A A 3,276
1) $98=% 210-01 |50,0009 x 28%= 1,400
2) A (L) 1,540
7 71 210-06 160,000 x 278 x 2A| 2k x 18] = 640
) =3 210-06 90,0009l X 27 X 5A17Fx 18] = 900
3) 98 210-06 |14,0009 x 3 x 27 X 4|7k x 18] = 336

3. A&HFPA A4 20,000 20,000 0
7k AxSS Y mAA G AL S F o<y 20,000
1) 998 210-01 |50,0009 x 16% = 800
2) g 210-02 |4,0004 % 28 = 112
3) AFAE 210-07 |800,000¢ x 1t x 53] = 4,000
4) Z:uln) 210-12 |50,0009 x 287 x 29 = 2,800
5) g2 g 210-12 |250,0009 x 287 = 7,000
6) g Al 210-12 |11,0009 x 287 x 73] = 2,156
7) A 210-12 |3,0009 x 287 x 38] = 252
8) &) 210-15 |80,000¢ x 2874 = 2,240
9) AFATA} 210—-15 |320,0009 x 21§ = 640

4, AR S 733 6,000 0 6,000
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SERE AR A9))
A S-A5E AEUY 2025 (A) | 20249 (B) 7+ (A-B)

7}, AAHE SR 6,000
1) $98=% 210-01 |50,000¢ x 28] = 100
2) A2 A 2 210—-01 |3,1009 x40A= 124
3) AAFEE (dyh) 1,540
7 7] 21006 |160,000¢ % 2 x 2A] 7} x 1 5] = 640
W) =3 210-06 90,0009 X 23] X 5417k x 18] = 900
4) A8 210-06 14,0001 x 31 x 27 X 4|7k x 18] = 336
5) kel b= 210—-07 |700,0009 % 2% = 1,400
6) A AN 210—12 11,0009 x 259 x 43] = 1,100
7) sFA 72N 210-12 |3,0009 x 257 x 23] = 150
8) Zuhn) 210—12 50,0009 %257 x 19 = 1,250

. fojul B F g AFS- 197,802 189,560 8,242
7h 2 doRlg A A A 1,810
1) A& A = 210—-01 |5,0009 x 42%-= 210
2) $J9=E 210-01 |50,0009 X 8% x 48] = 1,600
U 25 Ao B = ARRI 71 H] 101,750
1) B 110-03 1,250,000 x 8™ x 10¥= 100,000
2) 1817 320—-05 |100,000,000€ X 1.75%= 1,750
S5 Yol B 2w AR 7N 94,242
1) B¢ 110-03 2,600,0009 x 21 x 129 = 62,400
2) &35 110-03 | 150,0009 x 27 x 129 = 3,600
3) FAA LA 110-03 |450,00090 x 21 x 129 = 10,800
4) Aokt s ] -dn] 210-15 |1,300,0009 x 273 = 2,600
5) A A F R A 210—15 |700,000¢ x 2% = 1,400
6) B A= 320-05 |3,682,000¢ x 2= 7,364
7) AR E 7] Bkt 320—-05 |55,200,0009 %11.01%= 6,078

L GolA YTz r ALY 408,266 310,916 97,350
7}, o1 AN 354,266
1) ol B Z A} 309,922
7h B 110-03 2,600,000 x 78 x 129 = 218,400
W) 2o 110-03 20,0009 % 6% x 93] = 1,080
th FA A YH] 110-03 500,0009 x 77 x 129 = 42,000
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1BE AZAE QT A

71387 AESEAA EE A w54 4% (9] A )
Z [e)
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)

2 A== 210-15 |300,0009 x 3% = 900
uh) A 3FA k] gl A A ok 1 A} H) 210-15 |2,500,0009 X 77 = 17,500
vh) E A= 320-05 |2,360,0009 x 54 = 11,800
AD) AR E 7| B 320-05 |23,000,0009 % 77 X 11.33%= 18,242
2) ALA AT 44,344
7 AT 110-05 [120,0009 x 259 x 129 = 36,000
W) dxpg 110-05 [115,0009 %11 x13]= 1,265
oh) BAA Y+ 320-13 |3,000,0009 x 1% x 13]= 3,000
) 4R 7 PR 320-13 |36,000,0009 X 17 X 11.33%= 4,079
U Z 2 G 54,000
1) 7B gz g 210-12 |12,000€ % 2,400 = 28,800
2) Wy Az A 210-12 |25,0009 X 1207 x 23] = 6.000
3) "t dz g A 210—-12 |32,0009 X 2407 x 23] = 15,360
4) ZHAYLZ 210-12 |6,5009 X 1207 x 33]= 2,340
5) 89| 3 230-02 |15,0009 %107 x 103]= 1,500

7. <84 120,460 118,580 1,880
7h =okdrd obab A 40,000
1) ez 620-03 |40,000,0009 X 17iL= 40,000
L A 57 S T2 I 80,460
1) 99 = (29) 620-03 |15,000,0009 X 17 i.= 15,000
2) $Ex=dEEY2) 620—-03 10,000,000 x 17} 3= 10,000
3) Y9 =0k % (W) 620-03 |11,000,0009 x 17} .= 11,000
4) G9x(=dTdeh 620-03 15,000,0009 x 17} m.= 15,000
5) Y84 (2) 620-03 |8,000,0009 X 17] 1= 8,000
6) Fdst=E(A1A) 620—-03 |6,460,0009 X 17} .= 6,460
7) G eBE (oA AED 620—-10 |10,000,0009 X 17} .= 10,000
8) 8 1 (A}2) 620—-03 |5,000,000¢ x 17} L= 5,000

8. et AR Y 3 5,930 5,930 0
7}, ﬂi%ﬂﬂ%ﬂ 4,130
1) 99 gx 210-01 |50,000¢ X 58%= 2,900
2) AAS 720
71 7= 210-06 |40,0009 x 127 x 18] = 480
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JeE AEZE QT oA

7189 AR EAAR BT QT4 9 (k9] : 2 9)
X [e} =]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
) x=3 210-06 |20,0009 x 127 x 18]= 240
3) 7F21H] 210-12 [3,00091 X100 = EY
4) 93 230-02 |15,0009 x 147 = 210
1}, #8had T Abol ] 1,800
1) Iy 220—-01 |20,00091 %17 x703]= 1,400
2) =4 220-01 [50,0009 X1 x83]= 400
9. 588843} 275,164 236,314 38,850
7h et m gl o A B o 8,144
1) $9¢= 210-01 |50,00091 x 4% x 63]= 1,200
2) Al 5H] 210-01 |50,0009 X 12% x 63]= 3,600
3) 7R (L) 900
7h 71 E 210-06 |100,0009 x 19 x 247k x 33] = 600
) %3 210-06 |50,0009¢1 % 17 x 2417k x 33] = 300
4) ZFA}FA8] 7 ) 210-06 |70,000¢1x 1% x 23] = 140
5 918 210-06 |14,0009 x 31l x 4417k x 33| = 504
6) ¥2l3 230-02 |15,0009 x 207 x 63]= 1,800
o e w8 111,000
1) $94= 210-01 |50,0009 X 20% x 53] = 5,000
2) A= 210-01 |100,00091 X 50% x 83]= 40,000
3) EFUxE 210-07 |500,0009 x 1t x 1208] = 60,000
4) e 79 210-01 |50,000€ X 10% % 103]= 5,000
5) TA 9] 210—01 |20,000¥x50¢d= 1,000
ok A958R 3 ghn oo 60,200
D £94F 6.000
7} Au|EE o)} 210-07 1,200,0009 x 338] = 3,600
) #Agukely 210-01 100,0009 x 3% % 33]= 900
oh "o 210-01 |250,000¢ X 63]= 1,500
2) 7R (L) 24,000
7hH 71 210-06 |100,0009 x 207 x 2217k x 48] = 16,000
) %3 210-06 | 50,000¢ X 207 X 2A13} x 43] = 8,000
3) AFFA AR 210-07 |500,0009 x 33]= 1,500
4) A EH] 210-01 |200,0009 X 30% x 43]= 24,000
W - frofl 2T TS - P EEAd - w5 - gAY gAL
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JeE AEZE QT oA
(9] A Q)

At Sl e 2025 (A) | 2024€9(B) | SH(A-B)

5) 38 2lH] 210-12 11,0009 X100 x 48] = 4,400
6) &<l 3 230-02 |15,00091 x 107 % 23] = 300
B R ke 25,300
1) ¢3¢ 210-01 {50,000 x 63 x 33] = 900
2) A (Lnb) 12,000
7h 72 210-06 |100,0004€1 x 5% X 247k 83] = 8,000
W) 23 210-06 50,0009 X 57 X 2|7k x 88| = 4,000
3) A =n) 210-01 |100,00091 X 10% x 58] = 5,000
4) A AH) 210-12 |11,0009 x40 X 102 = 4,400
5) Sz gyt 240-01 |3,000,000€l x 17}¥l = 3,000
of, S 28] & o 7,554
1) $98= 210-01 {50,000 x 13 x 83] = 400
2) A 2H 210-01 |50,0009 x 10 x 88] = 4,000
3) A (LR 2,100
7P 7 E 210-06 |100,000€ X 2 x 243} x 33] = 1,200
W} %3 210-06 50,0009 x 27 X 3|3k x 33] = 900
4) Q18 210-06 14,0009 x 3vll X 42| 7k x 38] = 504
5) 2] 310-06 |11,00091x 10 x 53]= 550
u}. Seta) AALe 6,856
1) $ogx 210-01 |25,6009 X 10% x 13]= 256
2) A (LR 2000
7h 7)1 210-06 |100,0009 x 218 X 143k x 53] = 1,000
W) 23 210-06 |50,00091 X 27 X 2|3k X 58] = 1,000
3) Y8 210-06 |14,00091 x 2 X 17 X 2A] 7k x 53] = 280
4) A =0 210-01 |100,0009 X 5% x 28] = 1,000
5) An] 310-06 |11,0009 %127 x 103]= 1,320
6) 57|48 2000
7 AL E A} AR B] A ) 310-06 [10,0009 x4 x503] = 2,000
Ah AP 2GS 19971
1) mAT-R 210—-01 10,0009 X 15% x 48] = 600
2) WA 210-06 |60,0009 X 67 X 2417k x 223] = 15,840
3) 2l xtE 210-07 [8,0009 X3 x443]= 1,056
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718 A4 IA

AU S L — A& A o 20259 (A) | 20249 (B) | =% (A-B)

4) ZEAH] 210-12 |5,0009) x 15% x 253] = 1,875
of. AL AN ZFAIAH] 36,739
1) ZHAHH] 110-05 |132,0009 %252 x10¥9= 33,000
2) A I 7| BRI+ 320-13 [33,000,0009 x 1% x11.33%= 3,739

10. AT E&FA 17,140 17,140 0
7F 71597183 A P ol S 5,000
1) A (YRb 5,000
7H 71E 210-06 |100,0009 X 1% X 247k X 253] = 5,000
U AL EASTEE A 2,500
1) 2= x5 210—-07 50,0009 X 1t X 203] = 1,000
2) 7F21H] 210—12 |3,0009 X207 x 253] = 1,500
= o = TR e R SA RS B 1,640
1) L9982 210-01 |50,0009 X 10 X 23] = 1,000
2) ZIArd (dRh 640
7h 71 210-06 | 160,000 x 17 x 24| 7k x 23] = 640
ot S S8 w S 8,000
1) 253w 620-03 |1,000,0009 X 57)i= 5,000
2) T 620—03 |1,000,0009 x 27 1= 2,000
3) 158w 1,000
7H A 620—10 |1,000,0009 X 17 7= 1,000

11. A8 2SAA L9y 67,500 60,350 7,150
7F S usgddsiAd 67,500
1) 982 210-01 |50,0009 X 65% x 238]= 6,500
2) ZFAFTE (dHh) 45,600
7H 71E 210-06 |40,0009 X 6% X 247k X 953] = 45,600
3) A= 210-07 [500,0009 x213]= 10,500
4) &= 210-12 1,0009 x980™ x 53] = 4,900

12. S2HAAFGA Y 300,000 300,000 0
7F 2R EAA IR 300,000
1) =22 AE 300,000
7H +98F 210-01 |50,000¥ X 28% X 63]= 8,400
W) zFE A = 210-01 91,4709 X 100%-x 18] = 9,147
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1BE AZAE QT A

SHEAA] 2 w5 A A9)
AFd U < A5 =Y o 20259 (A) | 20249 (B) 7 (A-B)
th 9139 3,465
(1) 7= 210—06 |100,000¢ X 77 x 33] = 2,100
(2) =3 210—06 |50,0009 x 7% X33 = 1,050
(3) 893 230—-02 |15,0009 X 77 x 33| = 315
2}) A (AR 210-06 |160,0009 x 47 x 24| 7k x 13] = 1,280
ul) Y8 210—06 |10,0009 X 30 X 47 X 24| 7+ x 13| = 240
Hh) ARA %9 76 31 3] 6,588
(1) 219) 210—12 |11,0009 X997 x 43] = 4,356
(2) 7+2n) 210-12 13,0009 x99 X 63| = 1,782
(3) 893 230-02 |15,0009 X157 x 23] = 450
AP Az E 210-07 1,000,0009 x 33] = 3,000
op) ZE2]oH] 220-02 20,0009 x5% x 8% x 23] = 1,600
Z}) A& n) 210-15 12,260,000 X574 x 23] = 257,640
2} 8= 210-01 50,0009 X 30% < 33]= 4,500
7H A}A SEARE] 210—-13 |2,070,000¢] x 27 x 13] = 4,140
ISAENLRF 18,108 14,892 3,216
1. A 8 A G u A A1 F 18,108 14,892 3,216
7t Ab3] 3] o st AR 18,108
1) $98= 210-01 50,0009 x 2% = 100
2) Z2 )t 210-01 |14,000€1 X 531} = 742
3) A2 A2 210-01 |20,8009 X670%= 13,936
4) HESFT 2,880
7hH 71 & 210—06 |40,0009 X127 x 43] = 1,920
) =3} 210—06 20,0009 %127 x 48] = 960
5) &2 3 230-02 [15,0009 X157 x 23] = 450
146,562 100,562 46,000
DAFANA 4,212 4,212 0
1. 2 AFHAANAA L 4,212 4,212 0
7h WAL (25 1,160
1) $993F 210-01 50,0009 X 8% X 23] = 800
2) 893 230-02 |15,0009 X127 x 23] = 360
. AN AA A (FF) 3,052
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7138 ARSEAA G w5 A A (+9] - H )
X [e) 1=}
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
X 210-01 |50,0009 % 6% x 35]= 900
2) AT (D) 1,000
7h 7] 210-06 |160,0009 x 27 X 247k x 13] = 640
W =3 210-06 90,0009 x 2 x 213k x 18] = 360
3) 9ug 210-06 |14,0009 x 3w x 2 x 3A| 7k x 13] = 252
4) 23 230-02 |15,000€ X204 x 38| = 900
=IO NSO 142,350 96,350 46,000
1. 7128 R A4 142,350 96,350 46,000
7}, e 2] A E & 95,350
D (25)71 28 gz e 8,370
7h 98= 210-01 |50,0009 X 20%= 1,000
W) 2 A = 210-01 |3,0009 X 70% = 210
o)) AR (D) 640
(1) 71& 210-06 |160,000€ x 27 X 247k x 18] = 640
2h) A AdelxtE 210-07 |300,0009 x 104 = 3,000
S IRTON PARE) 210-12 |11,0009 x 40 x 23] = 880
Hh) 7F211) 210-12 |3,0009 x40 x 23] = 240
AP A3 H] 210—15 |30,0009 x40 x 28] = 2,400
2) (2)SGEHABA DA s IA A 30,000
7 2 ghg] 210-01 |300,0009 x 204 = 6,000
) wSh) 210-01 |60,000€ X 10 x 403]= 24,000
3) (F8) 72 FIAEZLY 2,580
71 9 8% 210—01 |50,0009 X 10%= 500
) Ak (AR 320
(1) 71& 210-06 |160,0004€1 x 1% X 2413k x 18] = 320
th) BFAAH] 210-12 |11,0009 X 20 X 23] = 440
2h) 7FA1H) 210—-12 |3,0009 X209 x 23] = 120
ub) A& n) 210—-15 |30,0009 X207 x 23] = 1,200
4) (F)dELABA DA s~ 4 16,500
7} 2 ghh| 210-01 |300,0009 %159 = 4,500
) wSH) 210-01 |60,000€ x5 x403] = 12,000
5) 4 3,500
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SHEAA] 2 w5 A A9)
Ab i < A5 AHEUY 2025 (A) | 2024 (B) 7 (A-B)

7H 8= 210-01 |50,0009 X 50%= 2,500
) A& S-]1) 210-09 |100,0009 x10¥= 1,000
6) 7138t A Atoib) 8,400
7H ) 220—01 20,0009 x 3% x808] = 4,800
) = 220-01 |50,0009 x 3% x 248] = 3,600
7) B3 e W ek A A E) 430-01 |26,000,0009 x 14 = 26,000
v Fetw ey S 9 5 gk4 27,000
1) Sz 620—03 |5,000,0009 x 17} 1= 5,000
2) gz 620—03 5,000,000 x 17} 1= 5,000
3) Y= 620—03 |5,000,0009 x 17} 1= 5,000
4) G g = 620—03 15,000,000 x 17} 1= 5,000
5) A= 620—03 |2,000,0009 x 17} 1= 2,000
6) gH= 620—10 15,000,000 x 17} 1= 5,000
= e R i A N T = B DR 20,000
1) 9% 210-01 |50,0009 x 2% = 100
2) A& A 2 210-01 |5,5009 %407 = 220
3) A 19,680
7H 71 & 210-06 |160,0009 x 27 X 24 7k x 24.3] = 15,360
W) 23 210-06 90,0009 X 27 X 1 A7k 24.3] = 4,320

38,970 26,470 12,500

ol &% 38,970 26,470 12,500

R R A Y o Rl 21,620 9,120 12,500
7h S &GA AT 3,820
1) $dgx 210-01 |50,0009 X 3% x 48] = 600
2) A=A 2 210-01 |5,0009 X 604 x 38 = 900
3) At (dRh 1,600
7hH 7)1 & 210—06 160,000 x 1% X 247k x 53] = 1,600
4) Y7 210-06 |14,0009¥ x 31 X 1% X 2A] 7k x 53] = 420
5) 893 230-02 15,0009 X 10% x 28] = 300
v A A st A AR AT 1,300
1) A2 A = 210-01 |8,0009 X 100%-= 800
2) ZAAt (dRh) 300
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7138 Al2dE 2T HWIA
SHEAA B S (9] A )
AU o S-A5E ArE 2025 (A) | 20249 (B) 7 (A-B)

7hH 71 210-06 |100,0009 X 11 X 24| 7k x 13] = 200
W) =3 210—-06 |50,00041 X 11 X 2417k x 18] = 100
3) ZAAFAH] A ) 210-06 |20,000€9 x 19 x 48] = 80
4) 41w 210—-06 |10,000€1 X 37 X 17 X 4 A7k x 18] = 120
o 54D 4,000
1) SAAARLEY 620-03 |1,000,000€ x 4748 = 4,000
ot 2Fd s 12,500
1) exdEE g 620—-03 12,500,000 x 174 ¢ = 12,500

2. ¥ X A=A AL 17,350 17,350 0
7k & e o] & ghat g 17,350
1) $98&= 210-01 |50,0009 X 19% x 28]= 1,900
2) Az A = 210-01 |5,0009 X 60%-= 300
3) &9 3 230-02 |15,0009 x 10 = 150
4) DAY B 620-03 |3,000,0009 X574 = 15,000

216,913 261,962 £45,049

SR8 216,913 261,962 £45,049

CES DS A YAE Y 216,913 261,962 245,049
7h S SA YAE 29 106,243
D STu5A A8 -9 84,838
7h ¢ eE 210-01 |50,00091 X 5% x103]= 2,500
W) 3Eew 210-02 |25,0009 x 129 = 300
th v EAAE 210—07 |444,0009 %129 = 5,328
Zh) Al E AR 210-09 |500,000¢ x 2238 = 11,000
o)) Holul A= 210-13 |200,00091 x 203] = 4,000
vl ¥ZFs71 714 430-01 |1,500,0009 x 1t]= 1,500
A}) A g o] 2} 430-01 |75,0009 > 47j= 300
ob) Al el 430-01 |7,680,0009 x 6t = 46,080
2} A= w17 430-01 |8,000,000¢1 x 18] = 8,000
1) MEH L 27 430-01 |2,600,0009 x 1¢]= 2,600
7 A4 H A7) 430-01 |1,180,000¢ x 1¢)= 1,180
Eh) A 29393 230-02 |15,0009 X107 x 23] = 300
) w5 e 240-01 |150,000¢9 x5 = 750

A= [e} A= OO
- 57uE - EFu5LY
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7137 - AR SEAA B w5 X 2 (ce] : A ¢)
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
IS IR 2 Bk PARIRE) 240-01 |20,0009 X 10%F x 53] = 1,000
2) 3 oS 15,000
7 WAL T A9 210-01 |30,0009 X20% x5 l= 3,000
) £3]oH) 220—-01 |20,0009x120% x5 12,000
3) g7}t 2,000
7H o 8= 210-01 [50,0009 X 20% x 23] = 2,000
4) BTSSR 3,000
7H o 8= 210-01 [50,0009 X 10% X 63] = 3,000
5) EFNged9 s 750
7H ¥ 2] 3 230-02 [15,0009 X107 x53]= 750
6) STuSA LA g Fgs A 655
7H +98F 210-01 |50,0009 x4%F x13]= 200
b 3@ 210—15 |50,0009 X7 x 13| = 350
o} &9 3 230-02 |15,0009 x 7% x 13] = 105
U EFuSAs 4,440
1) $£98= 210-01 |30,0009 X 10% x63] = 1,800
2) Ak (g 1,920
7h) 718 210—06 |160,000¢ X 17 X 2A) 7t x 63] = 1,920
3) Y8 210—06 [10,0009 X 37 X 19§ X 2A| 7k X 63] = 360
4) 72 210-12 [3,0009 x 20 x 63| = 360
= e A - i 106,230
1) A=A 11,700
7 o 8= 210-01 [43,7509 X 1% x483]= 2,100
) AR (L) 9,600
(1) 7N& 210-06 |100,000¢] X 17 X 24| 7k x 483] = 9,600
2) Ei}‘-ﬂl% 16,800
7H o 8= 210-01 |50,0009 x603]= 3,000
) AAFE R (ARD 12,000
(1) 71# 210—-06 |100,000¢] X 17 X 247k < 603] = 12,000
o} 7F214] 210—-12 |3,0009 X507 x 23] = 300
2} 7] EFs AL ) 210-01 |750,000¢ x 23] = 1,500
3) AAA G stL 10,480
W& - ol 2T FUS - LFGEEEAY - SFUF - EFLELEY
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8 AR THAA

7134 ARSEAA F D S A A (5] : W9
4 )
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
7H 9 8% 210—-01 120,000 X13%%x43]= 1,040
) zpeFelxta 210—07 |500,000¢9 x 2t} X 43]= 4,000
th) A3 AlH] 210-12 11,0009 x40 x 43]= 1,760
2h) 7F21)] 210-12 |3,0009 x40 x 43] = 480
oh) 43 210—-15 |20,0009 X407 X 43] = 3,200
4) et A At 12,300
7 L9 8=E 210-01 |50,000¢ X 4% x 303] = 6,000
) ZFAE () 6,000
(1) 71& 210-06 |100,000¢ X 17 X 247k x 303] = 6,000
oh ZkAu] 210-12 |3,0009 X 50% x 28] = 300
5) Eﬂﬂ%%} ) 43,850
7H +98F 210-01 |50,0009 X5% % 153]= 3,750
W) ZAEE (AR 1,500
(1) 7)1 & 210-06 |100,0009 X 1™ X 147k X 153] = 1,500
th WAL eE 210-01 |50,000€ x 4= 200
2h) zEEel e 210-07 |300,0009 X 4t} x 223] = 26,400
u}h) Aol o1 A 7 A WS-8 1) 210-01 [300,0009 x403]= 12,000
6) 7FEA4Y 8,000
7H 9 4F 210—01 (20,0009 x10%& x203]= 4,000
) AR (A 4,000
(1) aR:E 210-06 100,000 X 17 X 2417k X 203] = 4,000
o froba 57 9 3,100
7}) 8= 210-01 |22,0009 X5%F x103]= 1,100
W) A (AR 210-06 |100,0009 x 17 x 2412k x 103] = 2,000
A S 82,740 88,160 A5,420
A 252 82,740 88,160 25,420
1. 9AnS7]1#X 4 82,740 88,160 A5,420
7Fh A nS LY 8,280
1) *98=% 210-01 [50,0009 X 30% x 23] = 3,000
2) A=A 2 210-01 |5,0009 X 100%-% 638] = 3,000
3) A= (4R 1,400
7H 71E 210-06 | 100,000 X 17 X 213k x 73] = 1,400
W& - FolH2F TS - AFEHFETAY - AT - ARG
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(2) =9
u]-) SL/\g/\lt]]
2) 71 AL w7
7h wERTY
3) AZWARAE AT
h eIeE
b ARG (D
(1) 71&
SRR

1) AL @AYo
5) 9 A Sh g A
M ST

th stz

2 @494

wh 24 97k ]

6) QA a7 A A 2]

7h ¥ el 3

7) B A A EFE PG

7hH 9=
i3 u]

5= AE

il

210-12 |11,0009 %807 =

210-01
210-01
210-01

210-06
210—06 |50,0009 X107 X 1A]1ZF X 673
210-12

430-01 |1,400,000¢ x10t]=

210-01 |29,6009¥ xX5%F=
210—06 |100,000¢ x 11 X 2A] 7k x 18] =
230—-02 19,0009 x 2474 x 43]=
230—-02 |3,0009 x 2474 x43]=
220—-01 |20,000¢¥1 X247 xX53]=
210-01 |50,000€¥ X 9&=
210-06 |50,0009x 127 =
210-06 |50,0009x12™=
210—-12 13,0009 x100% x 13]=
230—-02 19,0009 X207 x 23] =
230-02 13,0009 X207 x23]=

230—02 |15,00091 X154 x 23] =
210—-01 |50,0009 X 6% X 1 7] F-0F=
210—01 |100,000¢ X 2% X 67 o=

17/62

202549 (A) 20243 (B)

50,0009 X 3% x 33] X 67| &t =
100,000€9 X105 X 28] X671 &g=
20,0009 X 1535 x 13] X 6785 =

100,0009 x 257 ><21~]7}><67H§

11,0009 X 1574 x 23] x 67§ & F=




1BE AZAE QT A

nopmu| BH | &S [ AR N =A% Ao 202549 (A) | 20249(B) | Z7(A-B)
A A A

t}) &2 210-12 11,0009 x50 x 18] = 550

) s 7FA ) 210-12 |3,0009 x50 x 18] = 150
L= RS 29,640 32,962 273,322
ENE=ZTSLY 20,378 23,620 73,242
1. EN=2a8A Y 20,378 23,620 73,242

7h SR AA S LSS5 A Y 14,568

1) $ogx 210-01 |50,0009 X 9% x 123] = 5,400

2) A (54) 7,200

7hH 7)1E 210-06 |300,0009 x 11 x 247k x 128] = 7,200

3) ZFAFAIH] A ) 210-06 |80,000¢ x 1 x 128] = 960

4) Q8 210-06 |14,0009 x 31 x 1% x 24| 7k x 1238] = 1,008

U SAEEZZ 7Y 5,810

1) $odgx 210-01 |50,0009 x5% x 53] = 1,250

2) A2 A = 210-01 |10,0009 x 50% = 500

3) A (YR 2,500

7 7)1E 210-06 |100,0009 x 2% x 247+ x 53] = 2,000

) 3 210-06 50,0009 X 27 X 1A 7k x 53] = 500

4) 91% 210—-06 14,0009 x 31l X 27 X 3A] 3} X 53] = 1,260

5) ZkAH] 210-12 |3,0009 x 20 x 58] = 300
SRTA=PS E X 9,262 9,342 A80
1. 8t EA#EIX A 9,262 0 9,262

7F St A A BA A TA 3.816

1) $94= 210-01 |50,0009 X 6% x 48] = 1,200

2) A8 A = 210-01 |5,0009 X 100%-= 500

3) Ak (dRh 1,280

7hH 7)E 210-06 |160,0009 x 17 x 247k x 43] = 1,280

4) Z¥AFAH) A ) 210-06 |80,000¢ x 17 x 48] = 320

5 s 210—-06 |14,0009 X 31 x 24 7k x 48] = 336

6) 7FA1H 310-06 |3,0009 X154 x43]= 180

|5 ISR B 2 e o e 4,696

1) $9e= 210-01 |50,0009 X 9% x 43] = 1,800

2) ZIAr (YR 2,560
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SERERANE R A9)
At 4 =5 —A= AEug 2025 (A) | 2024d(B) Z(A-B)
7h 718 210-06 |160,0009 x 27 x 24|13k x 43] = 2,560
3) vz 210-06 |14,0009 x 37 x 17 X 247k x 43] = 336
|2 TSRS g =R et 750
1) £98F 210-01 |50,00091 x 5% x 33] = 750
159,635 155,915 3,720
758% 40,000 36,280 3,720
L AGAS A ARSFER A S AT TS 20,000 20,000 0
7b b (s sk (5 20,000
1) AFdise 210-01 |500,0009 % 57} = 2,500
2) vlt) A = 210-01 |500,000¢ x 57} .= 2,500
3) HerjdE 210-01 |300,0009 % 57} L= 1,500
4) BA 210-01 |500,000¢ x 57} .= 2,500
5) 94 210-01 |200,0009 X 57 = 1,000
6) AFAF=-eH) 210-01 |400,0009 x 5% x 57} .= 10,000
2. oo @V A HALFER 20,000 0 20,000
7 ool g Ak 20,000
1) L9 8F 210-01 |10,000€1 ¥ 1,000 x 2%= 20,000
Iz 119,635 119,635 0
L AZAdASHE 97 6,310 6,310 0
7h A= Ad A S 8 6,310
D AdEgn] 1,960
7} <:uhH] 210—12 |50,0009 X107 x 238]= 1,000
1}) skl 210-12 11,0009 x15% = 165
o} o & e 210—-12 |100,0009 X 6= 600
1) o3 230-02 |15,00091 %139 = 195
2) A ux 310-06 50,0009 X874 = 4,350
2. 7| etA & 3] 25,325 25,325 0
TR ER e o 8,090
1) £98F 210-01 |50,0009 X 79%= 3,950
2) Aaad 840
71 7= 210-06 | 40,0009 x 147 x 18] = 560
W) =3 210-06 |20,0009 x 147 x 18] = 280
P - FolREFEHS - wy 4 - 53geAd - 45




B A= AbE U] 20259 (A) | 20244(B)
3) A=At 210-07 |400,0009 x 1= 400
1) 2ol xE 210-07 |500,0009 x 1th= 500
5) &9] 3 230-02 |15,000€ x 407 = 600
6) A3 310-03 |200,0009 x 97| &= 1,800

b w8 S b o 8 6,255
1) $94F 210-01 |50,00091 x 33%= 1,650
2) Aa=d 720

7h 7)1 210-06 40,0009 x 127 x 13]= 480
W} 23 210-06 20,0009 x 12 x 13]= 240
3) A= 210-07 |705,0009 x 1= 705
4) 893 230-02 15,0009 x 207 = 300
A=z 310-03 |180,0009 x 167/1% = 2,880
ERRTE Ry ARe 4,600
S3e = 210-01 |50,00091 % 25%= 1,250
}erol e 210-07 |700,000€ x 1¢f= 700
Zzuhn] 210-12 (50,0009 107 x 2% = 1,000
1R PARE) 210-12 11,0009 x 257 x 63]= 1,650
2. sz ek o) g A 52 o 3,680
SALE 210-01 |50,0009 x 30 = 1,500
peFol 2t E 210-07 |700,000€ X 1t}= 700
< uhH) 210-12 |50,000€ x 67 x 2 = 600
IARARE) 210-12 |11,000€ x 4078 x 23] = 880
- SR a2 A 5 g 2,700
1) $98= 210-01 |100,0009 % 24F= 2,400
o] g 230-02 |15,00091 X209 = 300
ZE9. 88,000 88,000
FIAAEY 20,000
FTHLE 210-12 |100,000¢l X 32%= 3,200
=AY IT N 210-12 |150,0009¢ x 217 x 23]= 6,300
AxEH 210-12 |250,0009 x 217 x 23] = 10,500
 FATEEY 68,000
258y 620-03 |500,000¢ X 1067 = 53,000

MREA Y - AEAGBE 20/62




718 L AR S AR S w52 A4 (9] - A€
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)

2) Z38kw 620—03 |500,0004¢ x 307 = 15,000
S PV E AR 195,906 157,756 38,150
SR =X A 7,950 7,850 100
1.9 nSE8Ex9 800 700 100

7h AFAAAF R 800

1) AEFA A& 210-07 |800,000¢ x 1t = 800
2. YT T YutA g 7,150 7,150 0

7h e s EA = 1,150

1) $98x 210—-01 |50,000€ X 4% x 28] = 400

2) 393 230-02 |15,0009 x50 = 750

L Pt = ST B R 6,000

1) $98=% 210-01 |100,000¢ X 60%= 6,000
SEPdd gS 79,136 44,936 34,200
1. 3aZYgL 79,136 44,936 34,200

7h. sh e A 4] o] 9] € 3] - 35,936

1) $98=% 210—01 |100,00049l X 5% x 43] = 2,000

2) &% 210-01 |150,000¢ X 3A17Ex 2038] = 9,000

3) At (dah) 1,280

7h 718 210—-06 |160,00091 X 27 X 2A] 7k x 28] = 1,280

4) 4% 210-06 |14,0009 X 3] x 274 X 2A] 7k x 23] = 336

5 FAad 21,000

7h 71 210—06 |100,00049 X 7 X 203] = 14,000

) 23 210-06 |50,0009 X 71 x 203] = 7,000

6) Aotz 210—-07 |500,000¢ x 23] = 1,000

7) &9 3 230—-02 |15,0009 x 227 x 48] = 1,320

. St e A G AR 43,200

1) ARG 210-06 |300,0009 x37 x4 x128= 43,200
SFYNTLE 102,820 95,470 7,350
1. Y (WEE) =2 A E S 102,820 95,470 7,350

7F 9l (Wee) A E] -4 72,320

1) $98=% 210-01 |100,000¢ X 10&= 1,000

2) WEPH AT 57 210-01 200,0009 X128 X 17 ¥= 2,400

FEAL - SYYBAE - SANLDE
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AU & A5 A= e 20259 (A) | 20249 B) | SH(A-B)

3) T3 QI AIA G2 210-02 |700,0009 x12¢9= 8,400
4) APgd 210-13 |460,0009 x129= 5,520
5) 721 210-12 13,0009 x50% X 103] = 1,500
6) 2132 210-15 |1,000,0009 X 123]= 12,000
7) Ag FAAFEe N 210-15 |100,0009 X 10%= 1,000
8) Ag] x| 7oA mn] 210-15 100,0009 x35% X 108 = 35,000
9) Z=¥u|A 210-15 |300,0009 x 53] = 1,500
10) ¢12=n] 210-15 | 150,0009 x4 X 23] = 1,200
11) 855 2H] 310—06 |11,0009x10% x83]= 880
12) &9 3 210-15 15,0009 X 78 X 43]= 420
13) MZ 2] A 2] 210-15 1,500,0009 x 18] = 1,500
B A == == et Rt 220-01 20,0009l x4 X 1008] = 8,000
o AR ST E] WA Y 22,500
1) 43 WA Sen] 210-15 | 100,00091 x5 X 18]= 500
2) 4=3] o] 220-01 20,0009 x5 X 1903]= 19,000
3) Eo&E=43| 4 240-01 50,0009 x5 x129= 3,000

S| 6,000 9,500 23,500

. AEerA e 6,000 9,500 A3,500
A - TR o P IR = = P R | 6,000
1) x5stw 620—03 [6,000,0009 x 14 = 6,000

67,850 31,500 36,350

899 67,850 31,500 36,350

1. AZAFYZZ ALY 31,850 31,500 350
7 RAZAP LR 1Y 30,000
1) S99 210-01 50,0009 X 10E X 63]= 3,000
2) A=A 2 210-01 |10,0009 X 35%-= 350
3) A (YR 3,000
7H 71 & 210-06 | 160,000 X 2% X 2413} x 33] = 1,920
W) 23 210-06 90,0009 x 278 x 2 7k x 38| = 1,080
4) ZAAFAH] ) 210-06 80,0009 x5 X 23] = 800
5 d1x 21006 |10,000€1 x 3 x 27g X 4 A7k x 3 8] = 720
6) 2FEFA 2= 210-07 |470,0009 x 4= 1,880

- AEZRTNE - N2A WY
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S A = w57 A
AFd U < Al =Y o 20259 (A) | 20249 (B) 7 (A-B)

7) A EH 210—11 |50,0009) X 25% X 63]= 7,500
8) Adn] 210—-15 |25,000¢ X207 x 153]= 7,500
9) sFAjAH) 210-12 |11,0009 X507 x 33]= 1,650
10) 7H21H) 210-12 13,0009 x50 x 183]= 2,700
11) ¥9l3 230-02 15,0009 x 201 X 33]= 900
Q-ﬂiﬂﬂﬂ =89 1,850
S g3 210-01 |50,0009 X 6% x 28] = 600
2) AES 210-06 |40,0009 X5 x 43| = 800
3) ¥ 3 230-02 |15,0009 x 1074 x 38]= 450

2. dgEF R EA d 21,000 21,000
7t AR R 2 A ALE 21,000
1) 992 210-01 |100,000¢] X202 = 2,000
2) Al e 420-03 4,000,000 x 12 = 4,000
3) ARFEIINE AT 15,000
H EE 430—01 |1,400,000¢ x 3= 4,200
W) A e 430-01 |250,0009) x 61l = 1,500
oh) AP Ay 430-01 400,0009 x 37}= 1,200
2b) AR g o] 7} 430-01 |350,000¢ x 27| = 700
n}) Az 430-01 1,200,0009 x 27 = 2,400
Hp) 7ol Ayt 430-01 1,000,0009 x 37 = 3,000
A T A 43001 |400,0009 X 57)= 2,000

3. R FA £ LY 15,000 15,000
7h YRy HoAl & 6,750
1) &892 210-01 |100,0009 X 5% x 23] = 1,000
2) A=A 2 210-01 |10,0009 X 200% % 23] = 4,000
3) ZAHE 500
7hH 71 210-06 100,00091 x 2 x 23] = 400
W) =3} 210-06 |50,0009 x 23] = 100
4) ZFAFA 8] A ) 210-06 |50,0009 x 27 x 23] = 200
5 AlAAdA=R 210-07 525,000 x 23] = 1,050
L ﬂ%“ﬂ 1Sl E AL gAT 6,750
1) ¢ =z 210-01 100,0009 X5%& X 23] = 1,000
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8 AR THAA

71378 - AR SEAA| R a g A A (X))
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
2) A=A 2 210-01 |10,000¢ X 200%-x 23] = 4,000
3) A (YR 500
71 7B 210—06 |100,000¢ x 2% x 28] = 400
W) =3 210-06 50,0009 x 23] = 100
4) ZAAFAH] 7] 210-06 |50,0009 x 29 x 28] = 200
5) A= 210-07 |525,000¢ x 23] = 1,050
LR A = o A 1,500
1) ¥23 230—02 |15,00091 X 257 X 43]= 1,500
B} A A dhu) A 940 940 0
A ALY A G A 940 940 0
1. g FA 8GR A 940 940 0
7t TS A g xI sk kg 940
1) So993% 210-01 50,0009 x 1%= 50
2) A& A 2+ 210-01 |5,0009 x 35%-= 175
3) FA ) 210-06 | 100,0009) x 27 x 28] = 400
4) AT 210-06 40,0009 x 27 X 13]= 80
5) 93 230—02 |14,0009 X7 x 28] = 196
6) 7211 230-02 |3,0009 x13%= 39
ASEX 4,375,098 2,836,178 1,538,920
WizsgdsEsy 2,201,323 1,703,128 498,195
358y e 266,300 227,520 38,780
1. 43387 egx4d 266,300 227,520 38,780
7h 2t u e g e 620-03 |211,260,0009) X 13]= 211,260
v g g Ad 55,040
1) 9EF-9 (%) 210-13 55,040,0009 x 17}7] 2= 55,040
R TR 1,935,023 1,475,608 459,415
1. 52sa843x4 1,548,149 1,056,738 491,411
7}, 23| A A D 1,544,949
1) 9EF9-9d (%) 210-13 |1,544,949,0009 x 17) 3= 1,544,949
v 3 aeg a3 2,000
1) 9832 210-01 50,0009 X 20%& X 28] = 2,000
th =3 o 3] 1,200
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718 A4 IA

R R R RS R (9] - H9)
X [e} =]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
1) 393 230—-02 |15,0009 X 20% x 43]= 1,200
2. =5 A YD 53,974 46,338 7,636

7h s AdAEH R 26,830
1) $98=% 210-01 |50,000€ X 20% % 103]= 10,000
2) A=A 2} 210-01 |10,000€1 X 300%- x 38| = 9,000
3) eI HAG A 180
71 7] 210-06 40,0009 x4 x 23] = 320

W) =3 210-06 20,0009 x 47 x 23] = 160

4) 2H) 230—02 19,0009 x50 x 68 = 2,700
5) ZFAH] 310-06 |3,0009 x50 x68]= 900
6) g2 3 230-02 |15,0009 x50 x 53] = 3,750
U 5 EAAAE AN 2,400
1) &1 471 430-01 900,0009 x 1) 13]= 900
2) ol A 430-01 500,000 x 3¢} x 13] = 1,500
b AN S 540
1) 7|& 210-06 40,0009 x 3% x 35| = 360
2) %% 210-06 |20,00091 %3 x33]= 180
2 5 BATAAS 7,152
1) 982 210-01 |50,00091 X 20% x 23] = 2,000
2) A=A 210-01 |10,0009¥ X 100%-x 23] = 2,000
3) AR (L) 500
7 7] 210-06 |100,0009 X 1™ x 2A] 7} x 23] = 400

W) 23 210-06 |50,00091 X 17 X 147k x 28] = 100

4 dug 210—06 [14,000¢ x 31 x 178 X 3A|ZFX 23] = 252

5) A &n) 210—15 40,0009 % 30% x 28] = 2,400
s R E R R 4,000
1) $99% 210—-01 |50,0009 X 20& x 23] = 2,000

2) A=A 2 210-01 |10,0004€ X 100*% % 23] = 2,000
ok RS 5.052
1) S99 210—01 |50,000¢) X 10% x 23] = 1,000

2) ZF 2 A 2 210—-01 |10,000¢ X 100% % 23] = 2,000
3) AT 500

Fotay

g

o7

28w - 558t ue
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7187 ASSEAA G wSH A (k9] - A4
X [e} =]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
7h 718 210-06 |100,0009¢1 % 17 X 24| 3k x 23] = 400
) =3 210-06 |50,0009 x 17 X 1413}k x 23] = 100
4) 9w 210—06 14,0009 X 31 X 19 X 3A| 7k x 23] = 252
5) A atE 210-07 |500,000¢1 X 1¢] x 135]= 500
6) A En] 210-15 40,0009 x 107 x 28] = 800
A}, o8] 8,000
1) Iy 220—01 [20,0009 x4™ x308]= 2,400
2) & 220-01 |50,000€ X 47 x 203] = 4,000
3) =9 220-01 |80,00091 x4 x 53] = 1,600
3. StpHtsRe o 90,630 90,240 390
7h StantEE Y 90,000
1) A=z 739y 210-13 |20,000,0009 x 37) 7= 60,000
2) EQ vz gy 210-13 |10,000,000¢1 X 37] #= 30,000
L R e B R Pl s 630
1) 7]& 210-06 |40,00091 x 37 x 13]= 120
2) =3} 210-06 |20,000¢ x 37 x 13] = 60
3) 923 230-02 |15,00091 X 107 x 33]= 450
4. EERYPTg A9 242,270 282,292 240,022
7h =33 A 238,680
1) gAY 210-13 |238,680,000¢ x 17]¢= 238,680
U 2eEadgArds 3,590
1) s$dgx 210-01 |50,0009 x 3% x 23] = 300
2) Ae A= 21001 |10,00091 X 60 x 13]= 600
3) ¢k w51 210—-01 |20,00091 %517 x13]= 1,020
4) A (LR 500
7h 7 E 210-06 |100,000€ X 17 x 247k x 23] = 400
) x3} 210-06 |50,0009 x 1% X 1Ak x 23] = 100
5 g 210-06 [14,0009¥ x 31 X 17 X 3A| 7k x 23] = 252
6) 2] 230-02 19,0009 %514 x 23| = 918
ol aaSoANA 670,000 670,000 0
rolastnuSaA st 670,000 670,000 0
1. 25349 A K 70,000 70,000 0
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718 AESHEAA T A w54 9% GEEED)
= o i=]
goivy S0 | 55| AT RERE %A% eSS 2025 (A) | 20249 (B) | F7HA-B)
A L R 70,000
1) 58w 620—03 [4,000,0009 X 107} X 13] = 40,000
2) Z&u 620-03 6,000,000 X573 x 18] = 30,000
2. vt S A EA 3} 600,000 600,000 0
7F WS- st A 184,000
1) 629 620-03 | 1,200,0009 X574 X 18]= 6,000
2) 258w 620—03 [4,000,0009 x 2671 x 13] = 104,000
3) T 620—03 [4,000,000¢9 X107} 5 x 13] = 40,000
4) 115w 34,000
7H 39 620-03 | 2,000,0009 X 97} X 18] = 18,000
) A 620—10 | 4,000,0009 X 47§70 x 18] = 16,000
v WA o g sk« 2 12,000
1) $993% 210-01 50,0009 X 23% X 33]= 3,450
2) A (4Rh 1,200
7hH 71 & 210-06 | 100,000 X 17 X 2417k x 33] = 600
W) 23 210—06 50,0009 X 1'g X 6413k x 28] = 600
3) Yo 210-06 10,0009 x 31 X 17 X 5A] 7k x 33| = 450
4) AAAJA =R 210-07 |100,000¢ x 14 x 73] = 700
5) XEFAdAE 210—07 |500,0009 X 1t} x 43] = 2,000
6) A =1 210—-11 50,0009 X 4% x 53] = 1,000
7) A &n) 210-15 20,0009 X507 X 23] = 2,000
8) &3 230-02 15,0009 x40 x 23] = 1,200
o} v P EotE A d 160,000
1) g Fotele-9d 210-15 |1,000,0009 x 5871 x 13] = 58,000
2) nA Y4389 620—-03 |1,500,0009 x4070€ x 18] = 60,000
3) o] LBAS3 L9 240-01 500,0009 X 84718 x 18] = 42,000
2k, w3 A o st 70,000
D gkl F e gAY 70,000
7H 2538w 620-03 2,000,0009 x 247§ & X 18] = 48,000
) Fskw 620—03 |2,000,000¢ x471€ x 13 = 8,000
) 1Estw 14,000
(1) 39 620-03 2,000,0009 x 47§&l X 18] = 8,000
L - fold2FE RS - AKEA - FolETRuFAANA - FolEtun s st
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7138 ARSEAA G w5 A A (+9] - H )
= i=]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
(2) A+ 620—10 | 2,000,0009 X 37§ & X 18] = 6,000
nf, HEHAZ g 70,000
1) BAEEEAZTA 27,000
7H 258w 620—03 |600,000¢ x 457083 x 13]= 27,000
2) EHTEAENZ 28,000
7H FHE 620-03 2,000,0009 X 137} x 18] = 26,000
W) A 620-10 |2,000,0009 X 17}t x 18] = 2,000
3) BHAEFUTHZAY 15,000
7H FH 620-03 | 1,500,0009 X 67} X 18] = 9,000
) AF 3 620-10 | 1,500,0009 X 47} x 1 3] = 6,000
o}, el kS WS E AT 20,000
1) 99 210-01 50,0009l X 5% X 63| = 1,500
2) Ak (g 1,500
7hH 71& 210-06 [160,000€ X 17 X 2A) 7k X 33] = 960
W) 3} 210-06 90,0009 x 11 X 247k x 33] = 540
3) 418 210-06 10,0009 x 3vll X 178 X 4 A2k x 53] = 600
4) <y 210-07 50,0001 X 307 x 23] = 3,000
5) AlAAdxtR 210-07 500,000¢ X 24 x 23] = 2,000
6) XA a7 210-07 600,000¢) x 2t} x 23] = 2,400
7) A EH) 210-11 20,0009 X50% X 13]= 1,000
8) A3 n) 210-15 20,0009l X507 x 23] = 2,000
9) &3 230-02 15,0009 X507 x 83 = 6,000
PR = ) s o R 84,000
1) 2l s 210-07 600,000€ x 2t} X 203 = 24,000
2) A &n) 210-11 20,0009l X 9% x 503 = 9,000
3) A& 210-15 20,0009 X507 X 403 = 40,000
4) FAY AN 210-12 11,0009 X507 x 203] = 11,000
TSEZA Y 1,508,775 463,050 1,040,725
AESEA L= Y 382,500 459,050 A76,550
1. 28 ER LA FR LY 342,500 459,050 A116,550
7h W EA A 8w A 328,500
1) 58w 620—03 190,500,000 = 190,500
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1BE AZAE QT A

718 AESHEAA T A w54 9% (9] A )
Z [e)

Hopnm ?}Zj 3;3 ﬂg Apelu el — A= e 2025 (A) | 20249(B) | FZ(A-B)
2) =8k 620-03 | 136,000,000¢= 136,000
3) T (M) 620—-10 |2,000,0008= 2,000

L St d AR ARl 0] 3 4,296
1) $99= 210-01 |50,0009 X 3% x 48] = 600
2) A (dyh) 2,640

7h 718 210-06 |160,0009) X 27 X 2413k X 33] = 1,920
W) 23 210—06 90,0009 X 2% X 24|13k x 28] = 720
3) d1s 576
7h) sh= 210—06 14,0009 x 3vfj X 27 X 2|k X 28] = 336
) &gjol e 210-06 |10,000¢ X 31 X 27 X 24| 7k x 23] = 240
4) 393 230-02 15,0009 X167 x 23] = 480

A EEEE-b 6,704
1) &98=% 210-01 |50,0009 x4 x53]= 1,000
2) Az A 2 210—-01 |829,000¢ x13]= 829
3) ZA 5 210-06 |100,0009 x5 = 500
4) =Hfjoiu] 4,000

7H 220-01 20,0009 X 17 X 1003] = 2,000

) £ 220—-01 |50,00091 %17 X 403]= 2,000

5) &< 3 230-02 15,0009 x 25 = 375

g} AEHsETFAA L 240-01 |1,500,0009 x271¥ = 3,000
2. W= 512] 9] 40,000 40,000

7k SRS ERA 32,000
1) ¢71staA Y 210-15 [500,0009 x 229 = 11,000
2) B3 A 9 210—15 |500,000¥ X107 = 5,000
3) AEZHAA 240-01 2,000,00049 x 33.= 6,000
4) 9171w A A 620-03 [2,000,0009 X 53.= 10,000

U, SPA U =2 k2] 9 A A B L 8,000
1) AEghs-ol 1,150

1) A5 210-06 |100,0009 x 1% x 7%= 700
h) 93 230-02 15,0009 X107 X 33 = 450
2) oqf‘m_gim_ 6,850
7h) 9 &% 210-01 |50,00091 x 10 x 23] = 1,000
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718 A4 IA

71378 - AR SEAA| R a g A A (X))
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
) 2= A 2 210-01 |5,0009 X 170%= 850
oh) ZAEEE (AHh) 210-06 |100,0009 x 47 x 33]= 1,200
) Izt 210-07 |1,000,000¢1 x 28] = 2,000
n}) <] 3] 230-02 |15,00091 X307 x 43]= 1,800
AFAR YD 1,117,275 0 1,117,275
1. 7 FLEATIN AL 1,117,275 0 1,117,275
7}, g T A ) 849,512
1) 258w 210-12 |240,215,0009 x 23] = 480,430
2) =& 210-12 |97,357,5004 x 23] = 194,715
3) 158w 210-12 |84,484,0009 x 23] = 168,968
4) By 210-12 |2,699,500¢1 x 28] = 5,399
U AT A " A -] 1) 210-12 |129,881,500¢ x 23] = 259,763
o} g A A e A 8,000
1) F=/d9t 210-01 |3,000,0009 x 14 = 3,000
2) Ag oy 430-01 |3,500,000¢1 x 18] = 3,500
3) Wiy 430-01 |1,500,0009 x 1t} = 1,500
gEJUE o g=a =] 744 Y 4,000 4,000 0
1. 2o a g9 4,000 4,000 0
7 RSk el 2 8 8 4,000
) A xs 210-07 |1,000,000¢ x 1t} = 1,000
2) A& 210-15 |100,000€1 X 3073 x 13]= 3,000
HAFA 6,288,463 11,132,974 24,844,511
BADF 7,212 8,066 A854
SR AR 2,876 3,776 A900
1. RAnS ALY 2,876 3,776 A900
7} E ol g 1,284
1) $94= 210-01 |50,0009) X 2% x 38] = 300
2) ISA5H] 210—01 100,000 %1% x 18] = 100
3) At (YRh) 640
71 7] 210-06 |160,0009 X1 x 243k x 23] = 640
4) 7FA}FA8] 7 ) 210-06 |80,000¢1 x 1% x 23] = 160
5 918 210-06 |14,00090 x 37 X 2417k x 1% x 13] = 84
WG - fFol T TS - BAFA - Bidy - Stundae
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Ry
>

ofl
)

~

e

o> iz ) ofe

o,
R
o
offt
Jlm
oX,
ml
>
>
Mo

o

2 oo
B o

210-01

210-06
210-06
210-06

210-01
210-01

AE

50,0009 X 2% X 43] =

160,000 X 19 x 2217k x 18] =
80,0009 x 14 x13]=
14,0009 x 3 x 19 X 1A 7k x 1 3] =

50,0009 X109 =
50,0009 x53]=

202549 (A)

842
400
320
320

80

42
750
500
250

20243 (B)

210-01
210-01

210-01
210-06
230-02

50,0009 X 1F=
4,600 X60t=

20,0009 X 1%F=
100,000¢ x 12% x 33] =
15,0009 x 139 x 23] =

4,336
326
326

50
276
4,010
4,010
20

3,600
390

6,281,251

4,290
280

4,010

11,124,908

46
46

24,843,657

210-01

210-06
210-06

230-02
310-06

50,0009 x21F=

100,0009 X 17 X 2A]7F X 63] =
14,0009 x 3w x 19 X 2A] 7k X 6 3] =

15,0009 x 6% x 13]=
50,0009 X 367 3 X 23] =

3,433,122
6,444
2,754
1,050
1,200
1,200

504
3,690

90

3,600
2,825,785
64,539

6,494,971
6,444

5,858,280

43,061,849
0

A3,032,495

31/62




SRR w74
A4
AFd = x
) 2= Al <k 2025 (A) | 202443 (B) 7ZH(A-B)
1) _o::%_L 620—03 |64,539,000¢= 64,539
i. i—ﬁg kT 620—03 |812,317,0009 = 812,317
Lol ’
5 628,627
1) 39 620—03 |566,283,0009 = 566,283
h ,
2) L% 620—10 |62,344,0009= 62,344
2} 158k 7
R 683,368
L 620—03 |352,025,0009 = 352,025
h ,
2)E L%_L 620—10 [331,343,0009= 331,343
o ,
}. E43 i’_ ] 620—03 [28,573,0009= 28,573
o 8] 7] 45 8 7] % AbA 1) ) 91 608,361
1) Zow ’\
63,536
)7}) A 620—10 |63,536,0009= 63,536
2) 15 15
s 544,825
7H 33 620—-03 |245,575,0009= 245,575
h ,
; o‘i)b._}-%;\ 620—10 |299,250,000¢= 299,250
.S FEEEFAAEREANR A ’
DA X1 H] X] 64,833 71,250 N6,417
LR (T 620—03 |2,133,0009= 2,133 ’
= =3} ’
3. i_if;ﬂ 620—03 [25,992,000¢= 25,992
. eral 7
- 17,575
DI 620-03 |15,941,0009= 15,941
h ,
3}2) C%L 620—10 |1,634,0009= 1,634
1A k-1 ’
- 18,392
1) 39 620—03 |9,386,0009 = 9,386
h ,
2)E L%_L 620—10 |9,006,0009 = 9,006
U}_.] ?—;251 620—03 |741,0009= ,741
B AFAERY
fReaed 514,010 534,497 220,487
L8R (T 620—03 |14,506,000¢= 14,506 ’
=) ,
j}. i_i.zjﬂ_ 620—03 |179,070,0009 = 179,070
. el ’
R 159,987
B 620-03 |145,112,0009= 145,112
h ,
2) }‘ja‘_ 620-10 |14,875,0009= 14,875
o 5t ’
154,154
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71387 AESEAA EE A w54 4% (o] A Q)
= i=]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
1) 29 620—03 |78,901,0009= 78,901
2) AH 620—10 |75,253,0009= 75,253
v, 58w 620-03 |6,293,0009= 6,293
5. 8w 34 ke o A H) 22,050 24,500 £2,450
7} FA A1) 620-03 |2,450,0009 X971 = 22,050
st S AN 2,848,129 4,629,937 A1,781,808
1. & FA 7| FUA A= 2,848,129 4,629,937 21,781,808
7h =T A 7] T A 275,507
1) 429 620—04 |12,450,0009= 12,450
2) 25383 620—04 |147,810,0009= 147,810
3) 38w 36,416
7hH 9 620—04 36,416,000 = 36,416
4) 31758kl 75,631
7H 9 620—04 [40,725,0009= 40,725
W) A 620—11 |34,906,0009= 34,906
5) E<8ta 620-04 |3,200,0009= 3,200
w2 A A e g 2571023
D A71sA 8,800
7h FdetdlE 8,800
(1) AAn] 620—04 |8,800,000¢ x 14]= 8,800
2) Y] 46,080
7h) g 46,080
(1) AAn] 420—-03 |7,680,0009 X 63= 46,080
3) AT dn A 2,516,143
O ES 265,253
(1) A)Adn] 420—-03 |1,894,0009 X 173.4997 m X 80%= 262,887
(2) A AKn] 420-05 |328,609,0009 X 0.72%= 2,366
W) #dF 366,921
(1) AAn] 420-03 |1,894,000€1 X 240m' X 80%= 363,648
(2) A Fn] 420-05 |454,560,0009 X 0.72%= 3,273
th YAz 185,914
(1) AAn] 420—03 |1,894,000€ X 108.2n X 90%= 184,438
W - Foldl xS — BG4 — S48 - a3 A
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1BE AZAE QT A

718 AESHEAA T A w54 9% GEEED)
| o =]
goivy S0 | 55| AT RERE %A% eSS 2025 (A) | 20249 (B) | F7HA-B)
(2) A Ay 420-05 |204,931,0009 % 0.72%= 1,476
) =5 x 425,779
(1) AAn 42003 |1,894,0009 X 247 8m' X 90%= 422,400
(2) A= ojn) 420-05 |469,333,0009 % 0.7198%= 3,379
uh) 2bE % 165,694
(1) A 420-03 |1,894,0009 X 96.3994m X 90%= 164,323
(2) A|A = oju) 420-05 |182,582,0009 X 0.75085%= 1,371
v FdstEF 350,692
(1) A2 420-03 |1,894,0009 X 204.1m X 90%= 347,909
(2) A= ojn) 42005 |386,565,0009 X 0.7197%= 2,783
AD) e ARR 234,972
(1) A A 42002 |220,272,0009 X 7.367% % 50%= 8,114
(2) A2 420-03 |1,894,00091 X 116.2997 m'= 220,272
(3) A A En) 42005 |220,272,0009 X 0.72%= 1,586
(4) 7)7-0] 4] 62003 |5,000,00091= 5,000
oh) ez 14,405
(1) A A 42002 |276,335,0009 X 6.8065% X 50%= 9,405
(2) 715-0]4dn) 62003 |5,000,0009= 5,000
Zh) o} %= 13,074
(1) A A 42002 |218,757,0009 X 7.3817% X 50%= 8,074
(2) 7]7-0] 4] 62003 |5,000,0009= 5,000
2h) A x 17,517
(1) A A 420-02 |398,687,0009 X 6.279% % 50%= 12,517
(2) 7] 7o) AlH] 62003 |5,000,0009= 5,000
7h FdstdlF 462,862
(1) A A 42002 |441,113,0009 X 6.1539% X 50%= 13,573
(2) Al 420-03 |1,894,0009 x 232.9m'= 441,113
(3) A|A = oju) 42005 |441,113,0009 % 0.7198%= 3,176
(4) 7)7-0] A1) 620-03 |5,000,0009= 5,000
E}) shestw 13,060
(1) A A 42002 |218,189,0009 X 7.388% % 50%= 8,060
(2) 7)5-0] 4] 62003 |5,000,00091= 5,000
WH - O EFTTUS — BAFA — S22 3 - Stu g s
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¥h b (wh2] @ A 4)
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
o}, 2] u) Ak 1 ) 1,599
\ 1) +385 620—03 |1,599,000¢= 1,599
st A A A DB 17,535,389 13,308,795 4,226,594
Bty 2gu| ¢ 15,478,076 11,375,816 4,102,260
A BE1 P ] 15,478,076 11,375,816 4,102,260
1. w7224y 14,386,108 10,618,752 3,767,356
A | 620—02 |1,400,437,0009= 1,400,437
U 2538y 620—02 |8,769,290,000¢l= 8,769,290
o} F8w 620—02 |4,216,381,0009= 4,216,381
2. St 7)Ele- 9| R 1,091,968 757,064 334,904
7k w4 st aA A 200,000
1) 529 620—04 |3,920,000¢9= 3,920
2) %38 620—04 |105,880,00091= 105,880
3) s 51,000
7hH ¥ 620—04 |47,080,00091= 47,080
) AFY 620—11 |3,920,000¢1= 3,920
4) 158 35,280
7h & 620-04 |19,600,0009 = 19,600
W) AFY 620—11 |15,680,0009= 15,680
5) E48w 620—04 3,920,000 = 3,920
L wEgkE ol A A 891,968
1) x%3tw 620—04 |615,793,0009= 615,793
2) T 620-04 |239,175,0009= 239,175
3) 58k 620—04 |25,000,0009= 25,000
4) E438 620—04 |12,000,0009= 12,000
AL A X Y 2,057,313 1,932,979 124,334
QAN AARAAETA Y 1,444,946 1,440,992 3,954
1. QA8 A FTHZ 1,444,946 1,440,992 3,954
75 el An A Y 620—08 |1,444,946,0009= 1,444,946
SFu|AAATA Y 612,367 491,987 120,380
1. LG AARAT R =Z 518,319 295,276 223,043
7}, & 7] E-g-9n) 620—09 |518,319,00091= 518,319
W& - frotgl 2T eus - tuAgA ARy - ASAEA D - I ALETAL
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7187 AESHAA =G D SR 9% (5] : W9
Z o )=
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
2. AlF 8t w7 el R 4 94,048 196,711 A102,663
7V, mskGolANA 94,048
1) n&stw 620—11 194,048,000 = 94,048
S A ANA 15,360,068 21,772,164 26,412,096
st Al A 7| A 15,360,068 21,772,164 26,412,096
SWAEAES 354,488 126,340 228,148
1. 2 dFH 354,488 0 354,488
7h ot YR EA A F AT SH 354,488
1) AJAH] 420-03 [173,370,0009 x 24 = 346,740
2) 7+ 420-04 |346,740,0009 X 1.5143%= 5,251
3) Al E ] 420—05 |346,740,0009 X0.72%= 2,497
St A AT AMNA 15,005,580 21,645,824 76,640,244
1. ZAg A 2,066,047 4,580,546 £2,514,499
7}, vie RS 120,015
1) A1AH] 120,015
7hH $EuEx 420-03 |26,670,0009 x0.5% = 13,335
W $EEEx 420-03 126,670,000 x 44 = 106,680
I S R | 3,825
1) A4 3,825
7H g9 nEx 420-03 17,650,000 x0.54 = 3,825
o} A 5" 104,842
1) A7 420-02 199,120,0009 x 4.868%= 4,826
2) A17dn] 99,120
7h ol % 420—-03 [33,040,0009 x 34 = 99,120
3) A|AEfH] 420-05 199,120,0009 X0.903%= 896
2t S| S WA 949,882
1) A A 420-02 1919,020,0009 X 2.713%= 24,934
2) Al%dn] 919,020
7h Ak x= 420-03 |27,030,0009 x 64 = 162,180
W G 420-03 27,030,000 X 284 = 756,840
3) A5 420-05 1919,020,0009 X 0.645%= 5,928
vl o ul e B 872,571
TE - Fold T us — SuAdAANA - SuAENA - SuAE G
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7| 8E AlE4E QTS A
7138 ARSEAA G w5 A A (sk9] @ A Q)
= o )=
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
1) A A 420-02 |843,707,0009 X 2.763%= 23,312
2) A4 843,707
7H G wEE ) 420-03 |18,543,0009 x0.5%4 = 9,272
W) e v () 420-03 |18,543,0009 x 154 = 278,145
o) A8 (9) 420-03 18,543,000 x 3024 = 556,290
3) A AR o] 420-05 |843,707,0009 X 0.658%= 5,552
v, Ay rdd 14,912
1) AAm 420-02 |498,222,0009 X 2.993%= 14,912
2. EAAAANA 41,250 110,000 268,750
7F. ks 7R 41,250
1) A 41,250
7H 9¥ 1 420—-03 |550,0009 x 754 = 41,250
3. Al At AA 4,341,358 91,009 4,250,349
V4 BRE IR =RAY 639,199
IR EARE A 639,199
7h) A 639,199
(1) AFa%(1,203.3m) 420-03 639,199,000 x 14 = 639,199
U, =gfo]u| E A 3,645,545
1) A A 420-02 |3,554,664,0009 X 2.22164%= 78,972
2) A AN 3,554,664
b ZA % 420-03 |24,347,0009 x 2= 48,694
) G Az 420-03 |24,347,0009 0.5 = 12,174
th) Fd9x = 420-03 |24,347,0009 x 224 = 48,694
) Gdga = 420-03 |24,347,0009 x 34 = 73,041
) BAZGAS) 420-03 |24,347,0009 X 7.54 = 182,603
vh) AR % 420-03 |24,347,0009 x84 = 194,776
AP AHEZCAE) 42003 |24,347,0009 X 104 = 243,470
o) =% 420-03 |24,347,0009 x 24 = 48,694
) =A% 420-03 |24,347,0009 x 64 = 146,082
1) o} % (271%) 420-03 | 24,347,000 X 1.54 = 36,521
I 9= % 420-03 |24,347,0009 x 24 = 48,694
Eh) 9% (271%) 420-03 |24,347,0009 X 3.54 = 85.215
WL - FolREFERS — StaA AN — SaAEAA - taAlH e
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8 AR THAA

7187 AESHAA =G D SR 9% (5] : W9
2 )=
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
) FAx 420-03 |24,347,0009 x 221 = 48,694
3 Fa= 420-03 |24,347,0009 x 92 = 219,123
) Gl = 420—-03 (24,347,000 x 194 = 462,593
u) 3= 2% 420-03 |24,347,0009 x 104 = 243,470
o) »4d= 420-03 [24,347,0009 x 174 = 413,899
) A= 420-03 |24,347,0009 x 1221 = 292,164
W) i 420-03 |24,347,000€ X 282 = 681,716
W) A etEAatka 420-03 |24,347,0009 x 12 = 24,347
3) Al 420-05 |3,554,664,0009 X 0.335%= 11,909
= e R R e 56,614
1) A1AH] 56,614
O ES 420-03 |3,2009 x1,926m'= 6,164
W Sz 420-03 |3,2009 X921 m'= 2,948
) FdTd= 420-03 13,2009 % 979m'= 3,133
) ofd % 420-03 [3,2009x1,331m'= 4,260
wl) o] ul % 420-03 |3,2009 X 340m'= 1,088
vh) Qe x 420-03 |3,2009 % 1,938.6m'= 6,204
AP G = 420-03 |3,2009%2,970.9m'= 9,507
oh) Fss= 420-03 |3,2009 x4,552m'= 14,567
A IR= i 420-03 13,2009 x2,732m'= 8,743
4. RSN 839,475 2,278,020 1,438,545
7y, 24 208,702
1) A A 420-02 |195,250,0009 X 6.16%= 12,028
2) A7) 195,250
7H 448 % 420-03 |355,0009 X 550m'= 195,250
3) Al E ] 420-05 |195,250,000¢ X0.729%= 1,424
U ddEE 299,160
1) A1AH] 299,160
7h e 420-03 |2,160,0009 X 138.5m= 299,160
o}, w2 201,081
1) A AN 420-02 |188,100,000¢ X6.16%= 11,587
2) A/ 188,100
WL - FolREFERS — StaA AN — SaAEAA - taAlH e
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718 AESHEAA T A w54 9% (cro] - A 9)
Z o )=
goivy S0 | 55| AT NERE 5= Ao 202549 (A) | 2024d(B) | Z7H(A-B)
7H g98dx 420-03 [570,0009 X 50m= 28,500
W) FAx 420-03 |570,0009 x50m= 28,500
o) S8 420-03 |570,000¢ X 230m= 131,100
3) Al E oy 420-05 [188,100,0009 X 0.741%= 1,394
2t 2 91,915
1) AlAdH] 91,915
7hH FAx 420-03 |593,0009 X 155m= 91,915
vl Sl A (% 9]) 38,617
1) A1AH] 38,617
7H 448 % 420-03 [38,617,0009 x 12 = 38,617
5. ZoAA A EEF 711,500 243,370 468,130
7}y 5771 709,000
1) A1AH] 709,000
7hH g9z 420-03 |282,000,000¢ X 14 = 282,000
W FEEEx 420-03 196,000,000¢ x 14 = 96,000
th Gss= 420-03 |331,000,0009 x 12] = 331,000
. Z1EpA A AE 58 F 2,500
1) A1AH] 2,500
7H deuEx 620—-04 |25,0009 X 100m= 2,500
6. A7| A2 NA 121,440 545,589 £424,149
7F =l A 121,440
1) A]dn] 121,440
7hH G 420-03 12,640,0009 x 462 = 121,440
7. AAAUA B Z 5= 10,320 64,465 A54,145
7t A AU ALE B A 10,320
D AR 10,320
b ZA % 620—04 |3,840,000¢ x 14]= 3,840
) ARz 620—04 |5,180,0009 x 14 = 5,180
o) A= 620—04 |1,300,0009 x 12]= 1,300
8. IHAVEAF 5,932,233 11,352,564 5,420,331
7L gz 1,502,118
1) AJAH] 420—03 981,204,000 x 14 = 981,204
W - folREF SRS — FWALAAMA — SWALANA - SFaARBFANA




40/62

7138 ARSEAA G w5 A A (5] : W9
= o i=]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
2) 7ran) 420-04 |505,109,0009) x 14 = 505,109
3) A H o) n] 420-05 |15,805,0009 X 12]= 15,805
oo 2,069,075
1) AAn)] 420-03 |1,484,470,0009 x 14]= 1,484,470
2) 7+an) 420-04 |567,036,0009) x 14 = 567,036
3) AR n] 420-05 |17,569,0009 x 12]= 17,569
Holar 2,361,040
1) A AH)] 420-03 |1,549,090,0009 x 12]= 1,549,090
2) 7+aln) 420-04 |788,383,0009) x 14 = 788,383
3) AR n] 420-05 |23,567,0009 x 12]= 23,567
9. IAFSA (AF) 540,600 637,176 A96,576
7}, 525 w A 540,600
1) AAH] 540,600
7h £8= 620—11 |27,030,000€ x 204 = 540,600
10. A| AN (AHR) 395,377 0 395,377
7} EgfolH| E 389,403
1) AAH] 389,403
7h 55 %) 620-11 |18,543,0009 x 212 = 389,403
L A R 5,974
1) A]An)] 5,974
hH 55 620—-11 |3,200€ % 1,866.7m'= 5,974
11. BAZEUAETEF AH) 5,980 10,250 44,270
7h AAF AT A (AR 5,980
1) A]AH] 5,980
hH £5E 620—11 |5,980,000¢ x 14 = 5,980
P TS 1,530 1,530 0
ARTS 1,530 1,530 0
3P 159 1,530 1,530 0
AT EAEL S-S 1,530 1,530 0
FHEZAALYLY 835 835 0
7}, HA) =y 210-06 |100,000¢1 X7 = 700
. 393 230-02 |15,0009 x 9= 135
g - FARS - FPRF - BALFEG - FARLFAELLY
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SEARA = al S A 24
o I AR 2z RENE 202549 (A) | 20249(B) | Z%(A-B)

2. AT ELELIA Y 695 695 0

7F S gx 210-01 |50,0009 x 2% x 28] = 200

U edHo 210-02 |600€ x 200% x 38| = 360

). & o] 5] 230-02 15,0009 x 9= 135
S 7,153,714 8,396,830 21,243,116
5304 o] ) 6,170,125 3,501,049 2,669,076
R 15,675 31,314 A15,639
MR 14,050 14,050 0
1. FLAFAYFHFA 14,050 14,050 0

7V Fo9F R 1,600

1) A=A 2 210-01 |10,0009 x 80 x 28] = 1,600

L S 3 8,600

1) 99 gx 210-01 |50,0009 x 7%= 350

2) A2 A = 210-01 |15,0009 x500%-= 7,500

3) 93 230-02 |15,0009 X309 = 450

4) 721 310-06 |3,0009 %1004 = 300

o}, 8}7 8w w5 v 3] 3,850

1) A=A =k 210-01 |5,0009 X 190%-x 23] = 1,900

2) & 9] 3 230-02 |15,0009 X659 x 23] = 1,950
B4 Al g &3 1,625 17,264 215,639
L. v e Al g U Bt &g 300 300 0

7h A AT F A 300

1) $94= 210-01 |50,0009 X 6% = 300
=AHSAF 1,325 1,100 225

7} 93 8= 210-01 |50,0009 x13%= 650

U}, &9 3] 230-02 15,0009 x 157 X 38]= 675
HAY e 12,660 11,170 1,490
ZHA B 12,660 11,170 1,490
1. AA)ZAF 2,600 2,900 A300

7} AFE =) 250-04 [10,0009 x5 x483%]= 2,400

U eoex 210-01 |20,0009) 5% x 23] = 200
3 A A ZFA} 1,250 0 1,250

W5 ARk AP - FRAREE




7138 ARSEAA G w5 A A (5] : W9
= o i=]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
7}, A=A = 210-01 |10,00091 X 125%-= 1,250
3. B 2P o A3t 8,810 8,270 540
7h Fo A Bl g o A A st 1,460
1) 98 210-01 |50,00091 X 2% x 53] = 500
2) Ak (g 960
7h) 718 210-06 |160,0004€l X 17 X 22|13k 38] = 960
U A EES A 7,350
1) 98 210-01 |50,00091 X 9% x 23] = 900
2) A at= 210—07 |500,000¢ x 2tf= 1,000
3) AAn (FAY) 210-15 |25,0009 x 86 = 2,150
4) A8 (A 210—15 |50,0009 x 457 = 2,250
5) 323 230-02 |15,0009 x 70 = 1,050
71 B3 71z A B 102,669 5,496 97,173
PFANAEEA LD 102,669 5,496 97,173
1. S A=F73} 15,796 5,496 10,300
7h S oded 15,796
1) £98= 210-01 |20,0009 X 100% x 43| = 8,000
2) A=Az 210-01 |10,0009 X 100%-x 23] = 2,000
3) AAEE (duh) 2,560
7H 71 & 210-06 |160,0009 X 27 X 2A] 7k x 48] = 2,560
4) 915 210-06 |14,0009 % 3u] X 11 X 24| 7k X 43] = 336
5) Al xt= 210—07 |700,000€ x 2tf= 1,400
6) &2 3 230-02 |15,0009€ X100 x 18] = 1,500
2. 7 dEA LAE Y 86,873 0 86,873
AT R LR 8,600
1) S98= 210-01 |50,0009 X 2417k X 63] = 600
2) FAGF AL A 210-06 |160,0009 X 2417k 253] = 8,000
R R 1,850
1) 98% 210-01 [50,0009 x2U xX53]= 500
2) AArTT 1,200
71 7= 210-06 | 40,0009 x 1 x 208] = 800
) 23 210-06 20,0009 x 19 x 203]= 400
WS - WEUN - wSFE AR - TRt 2 A ] - 3PN EEAE
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1BE AZAE QT A

719 AR SEAA =T A SH 47 (9] - A2
Z o
woppg A | XA | AT RENE A A5 20251 (A) | 2024 (B) | E7(A-B)
3) 2|3 23002 |15,00091 %29 x 53] = 150
t} o] Aol ol AN E A ALS 210-01 |220,00091 X 2570 x 13] = 5,500
g}, S A FAA] D ek 2,200
1) AdE S+ 1,200
b 7182 210-06 40,0009 x 19 x 203]= 800
) 23 210-06 (20,0009 x 19 x 203]= 400
2) ZA A1) A H) 210—06 50,0009 X1 x208]= 1,000
ul, WA A e A <) 210-01 |300,000€ X 1% x 403] = 12,000
ST e R Rl 1,200
1) Tyoin) 220-01 |20,00091 X207 x 33]= 1,200
AF. EE9 74 g 210-01 |1,000,0009 X 63]= 6,000
o}, WF&=u] A4 7 210-01 |500,000¢ x 128 = 6,000
2t HEEFA AT T E 210-01 |11,0009 x 450t x 45 = 19,800
2}, B S u)) A 0] 210-01 |5,0004 X 407} x 123]= 2,400
7RG 21,323
1) ZAHn] 110-05 36,0009 X 2% x 3217 X 97§ 2= 20,736
2) mgmmmg} == 320-13 |20,736,0009 X 2.83%= 587
AP AR B A u)| A 11,085 10,085 1,000
ASHAAEAAEHES 6,380 5,380 1,000
1. A AEaa g e 6,380 5,380 1,000
7h AR H A B 4,380
1) AArAH] S 210—09 [100,0009 X 10% x 28] = 2,000
2) YESAGA RS 210-09 |29,742,0009 X 8%= 2,380
. 71 BE A 0] 4 - 2,000
1) AT EANZETTR 210-01 |2,000,0009 x 13]= 2,000
5P 71E5E84 4,705 4,705 0
1. 712 BRELATS 4,305 4,305 0
7h 715 4,000
1) S99 210-01 |50,00091 X 10% % 83]= 4,000
R PR 305
1) A2} 210-06 |100,0009¢ % 2% x 13]= 200
2) 93 230-02 |15,0009 7% x 13]= 105
P - 5N - R EPPAN - R FFPPRLYGAR A - 2 HF Y FE23
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718 AESHEAA T A w54 9% (k9] A )
= [e) 1=}
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)

2. 3RI NP 400 400 0

R R A S 400

1) X5 210-06 |100,0009 x 473 x 18] = 400
o AT 960 960 0
oA 960 960 0
L. A S5 3| A A FEAEFH 960 960 0

7}, A2 A = 210-01 |12,000€l X 80% x 18] = 960
A 27 g] 524,000 484,323 39,677
FHANLEZHAT 524,000 484,323 39,677
1. T SAA T 7,358 5,678 1,680

VAR LSS 210-01 |839,0009 x 48] = 3,356

L ZH| ol &4 r R 210-01 |161,0009 x 23] = 322

Ch BA AR 0] 8] A g 210-06 |100,0009 x 473 x 23] = 800

a2}, 5 9] 3 230-02 |15,0009 x 87 x 43| = 480

o}, A %0 250-04 |100,0009) x 27 x 129 = 2,400
2. W @A A 26,000 334,597 308,597

7}, o g 26,000

1) =A== 210-09 |10,000,000€ % 1 /1= 10,000

2) TERILFTEHE 210-09 |8,000,000¢ x 27} 1 = 16,000
3. BA A 445,204 0 445,204

7). e A DA A BAFGA] B 210-09 |300,0009) x 424t} = 12,600

U A A E g EARLS 400,000

1) Zan) 420-04 |400,000,000¢ x 14 = 400,000

o}, 29w A A ElA %] 210-01 |1,100,0009 X 3% = 3,300

2k A AR Y 29,304

1) W33 430-01 |480,0009 x 30t)= 14,400

2) TV 430-01 |337,0009) x 30t)= 10,110

3) AlE7] 430-01 |799,0009 x 6= 4,794
4. WS A FA) 3] H] 45,438 45,048 390

7}, w8 A A B A 3] H) 210-02 |45,438,00091= 45,438
Bl ] A 1,773,409 2,696,815 £923,406
EXLEEERES 1,769,409 2,070,015 £300,606

W - L — WP PN — AN A A — e A A 8 9
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718 L AR S AR S w52 A4 (9] - A€
Bopnu ;‘é}jj %ﬁg ﬂz NESI L == NS 20254 (A) | 20249 (B) | Z7(A-B)
1. 23 Ax 9 464,909 802,995 338,086
AR A Fat S BT 1,000
D $ogx 210-01 |50,0009 X 65 x 28] = 600
2) AAE (Y 400
7 7] 210-06 |100,000¢ X 17 x 247} x 23] = 400
U, AAs Az s 208,032
1) 429 620—-03 |74,718,0009= 74,718
2) =8y 620—-03 |133,314,00098= 133,314
Th SO A 236,557
1) 4294 620-03 |11,652,0009 = 11,652
2) 258y 620—-03 |224,905,0008 = 224,905
2}, A el A 110-03 |150,000¢ X 1003 = 15,000
vh AL AS 4,320
1) AFAdxta 210—-07 |1,000,0009) X 1tf x 23] = 2,000
2) Zuky) 210-07 |50,0009 x 29 = 1,450
3) 9|3 230—-02 |15,0009 x 297 x 23] = 870
2. 28| AT9Q) 1,200,000 1,154,000 46,000
7} A7 A5 A A A2 2] 420-03 [80,000,000¢ X 4t} = 320,000
R Eatl 430-01 |220,000,000¢ x 4t]= 880,000
3. SPER S 104,200 84,400 19,800
A= IR 620—-03 | 104,200,000 = 104,200
4. YA Y F52 300 300 0
7t S8 E 210—-01 |50,0009) x 3% x 18] = 150
1}, &9 3] 230-02 |15,00091 %107 x 13]= 150
ARAFE ST EA 4,000 626,800 ~622,800
1. AR TR TSR 4,000 626,800 £622,800
7h AR n S F 2 4,000
1) $94= 210-01 |50,0009 X 4% x 83| = 1,600
2) AETY 960
7} 7] 8 210-06 |40,0009 x 27 x 83| = 640
W) 23 21006 |20,0009 x 27 x 83| = 320
3) 393 230-02 |15,0009 x 124 x 83]= 1,440
W - WA B AR — SR A E - AR w S




7187 AESEAA R aSA 9% (k9] - )
= [e) 1=}
Bopnm ;‘3}2‘ 3;3 ﬂg Apeluel RS Ao 20254 (A) | 20249(B) | ZF(A-B)
R 3,697,276 39,670 3,657,606
SE 1w =n) 3o 3o 42,640 36,800 5,840
1. 799993 #7 9,440 9,720 A280
7h Sueg el dds 8,440
1) $9ex 210-01 |50,0009) X 68%= 3,400
2) AT (LD 1,000
b 7 E 210-06 |160,0009 X 27 x 247k x 18] = 640
W) x3t 210-06 |90,000¢ x 27 X 247k x 1 5] = 360
3) Yaug 210-06 10,0009 x 3vfj X 27 X 2|k X 28] = 240
4) =A== 210-07 |600,0009 x 1t x 28] = 1,200
5) SR A1) 310-06 |11,0009 x50 x 28] = 1,100
6) 7F2n) 310-06 |3,0009 X507 x 23] = 300
7) 823 230-02 |15,0009 x 407 x 23] = 1,200
e R R R R R 1,000
D sodexE 210-01 |50,0009 x 2%= 100
2) ¥ 93 230-02 |15,0009 59 x 1238] = 900
2. R 3 u g A A A 33,200 27,080 6,120
7h SR EATUE A Y 4,000
1) $9¢= 210—-01 |50,0009) X 105 x 48] = 2,000
2) AR (LD 800
7hH 71& 210—06 |100,000€ x 27 X 2A] 7k x 23] = 800
3) e 21006 |10,00091 x 31 X 27 X 2A] 7k X 28] = 240
4) sHE 1 A1) 310—-06 |11,0009¥ X207 x 33]= 660
5) 7FAIn) 310-06 13,0009 x 207 X 53] = 300
B R e e i e 29,200
1) $9ex 210-01 |50,000¢ X 10 X 103] = 5,000
2) A8 210-01 |300,00091x10¥= 3,000
3) A3 AF 210—-06 |70,0009) X 17 X 2A]7kx 503] = 7,000
4) QA 210-06 |70,000€l X 1 X 2417k x 503] = 7,000
5) AFUAE 210-07 |700,000¢) X 1t} x 38] = 2,100
6) BHE-T AN 310-06 11,0009 307 x108]= 3,300
7) 720 310-06 |3,000€x30™ x 2038 = 1,800
WS - WFYY - SN - uSHe - S RYUFERIFol g
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SEAA EE A Ay (Te] - A 9)
=]
s RERE 245 SENE 20254 (A) | 20249 (B) | Z7(A-B)

ST b h=Ruac) 3,654,636 2,870 3,651,766
1. 2S5 EHAIAA L2 354,336 2,570 351,766

7h AHAH A ALY 2,590

1) $99= 210-01 |50,0009 % 6% x 23] = 600

2) I 210—06 [100,0009 X7 x 23] = 1,400

3) A An] A n] 210—06 |10,0009 X794 x23]= 140

4) gol3 230-02 |15,0009 x 159 x 23] = 450

L S HASt S G A A HARY 351,746

1) A7 330-07 |16,710,000,000¢ X 4.21% % 1/2= 351,746
2. ASUrAET AR QL4 3,300,000 0 3,300,000

7t A E NS5 - 1,620,000

1) AR EES v xA 1,210,000

7 o] AH] 210-13 500,0009 X 94 x 28] = 9,000

wh) A A 420-02 |43,900,0009 x 124 = 43,900

o} A]AdH| 420-03 |1,033,600,0009 x 14 = 1,033,600

o) Al Eofn] 420-05 |6,500,000¢1 x 12)= 6,500

ub) 7] &A1) 620—04 |1,170,0009¥ X 10% x 104 = 117,000

2) FeFEEstuY 90,000

7hH 2H4x9 620-03 45,000,000 x 27] 9= 90,000

3) sEwAwALTH A Y 620-03 |1,200,0009 X508 = 60,000

4) Wetxs2 A E A8 A Y 620-03 |7,0009 X500 x 409 = 140,000

5 2sWys g 7] 100,000

7h 5,638hd 620—03 |25,000,0009 X 47} 7= 100,000

6) FAduSHIA Y 20,000

7h) 2025w Aol 11w A E 15,480

(1) 9= 210-01 50,0009 x 30%= 1,500

(2) ZFAbr (4 590

o 71 & 210-06 |160,0009 X 247k x 13]= 320

) =3 210-06 90,0009 X 327k 18] = 270

3) 91w 210-06 |14,000€ X 31 X 5A| 7k= 210

(4) 7328 7 210-06 |80,0009 x 13]= 80

B) FHFHAFAF(S) I EE | 210-01 [100,0009 x 273 = 2,700

duk — w5FY - P B 47/62




B8 AEZ4E QT A

718 AESHEAA T A w54 9% (9] - ")
= =
goivy S0 | 55| AT A e %A= aEY 2025\1(A) | 20249(B) | F2(A-B)
(6) dEF3AS (25) A | 210-06  [100,0009 X 2417 % 27 3] = 5,400
(7) 2SI FIEY TG 210-01 [100,0009 x 5087 x 13]= 5,000
) 2025% 533 d LS| ] o 5w A 4,520
(1) &1 210—01 |128,0009 x53]= 640
(2) AESZ 2,880
op 71& 210—06 40,0001 X 16% x33]= 1,920
b =3 210-06 20,0009 < 167 x 33]= 960
(3) A= 210—07 200,000 x 14 x538] = 1,000
v m) el o] At st 530,000
D AR S AR =S EFEZRESS 330-07 530,000,000 x 17§7] &= 530,000
U} ERES 7899 360,000
1) SESW/5 85 2] 200,000
7hH X2 13--GH] 210-13 [35,00090 x 37 x 3583]= 37,590
W ZRaRegstuA Y 162,410
(1) 253w 620—03 |159,400€ X 9057 x 13]= 144,257
(2) =81 (FH) 620—03 |117,6109 x50 x 23] = 11,761
(3) T (X)) 620—10 |75,20090 % 179 x53]= 6,392
2) Zrol7}b=ICT 5 (SW) 330—07 |160,000,000€ x 17§7] #= 160,000
o A& w59 7 50,000
1) IBEAEA A 330—-07 150,000,000 x 17}7] ¢= 50,000
uh, FAAAL=ES R H]:rLzﬂ 250,000
1) FrdAY=E3rdT 330-07 |250,000,0009 x 17]7]) %= 250,000
v} A A5 gk Cﬂﬂ]‘ﬂ%ﬁ%“é 170,000
1) $AAIEEAASY T2 Y 330-07 40,000,000¢ x 17§7] &= 40,000
2) ot Lol A kA 330—07 |90,000,000€ x 1747] %= 90,000
3) K—xztekale] odek7) 3} 330—07 |40,000,000€ x 17§7) #= 40,000
Ab MOU A A =5 24 3F a5+ 20,000
1) Lgfel E3lu 330—07 |20,000,000€ x 177] = 20,000
of. WU HEFFH YA et 300,000
1) TREZAA 210—01 20,0009 % 1,0007= 20,000
2) AHYASETAF 30,000
7hH AFEE 210-01 [50,000€91 X 1007}= 5,000
A SETA L SAAAN - w5HYH - wSPH e
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= [e)
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
W S E= 210-01 |50,00091 X 1007 = 5,000
oh) W& 210-01 |50,0004€ X 1007 x 13]= 5,000
2h) 2}kl 2 210—07 |1,200,0009 x 2% x 33] = 7,200
np) AAgk7)alel =7 8] 210—-15 |30,000€ X 1307 x 23] = 7,800
3) AL HAETETH 330-07 |250,000,0009 x 1747] #= 250,000
3. 28X dAnSHPHA Y 300 300 0
7h WS A X 300
1) £98= 210-01 |50,0009 X 6% = 300
Al A #E) 32,391 221,216 188,825
A A4 32,391 221,216 A188,825
1. A A2 9 32,391 221,216 A188,825
7h. S WA A A e 32,391
1) HA A LA 210—-13 |32,391,0009= 32,391
AR 983,589 4,895,781 23,912,192
AT 899,940 891,907 8,033
71871 8241 899,940 891,907 8,033
1. 7| B 5321 35,180 34,300 880
7h 7171 -4 7 v 35,180
1) 7] 32 A F 3 A ) 250—02 400,000 x129= 4,800
2) 7] #L-J L Z=71n) 230—-01 |23,100,0009= 23,100
) ARG B F21H] 230—03 [80,0009x91%= 7,280
B 71229 A0 282,561 221,546 61,015
7}, w4=) 3} 120,712
1) 2uk-g-oin 12,677
7h FAq 210-01 |1,200,0009= 1,200
) 1 210-01 |499,000¢ x 23 11,477
2) Euf2ln] 210-05 |9,0009 x 237 x 4538] = 9,315
3) FA]&d 7 5,880
7H BA3 210—15 [400,0009 x12¢¥= 4,800
W FrHe 210—-15 |5,0009 %187 x 129 = 1,080
4) =] 89,240
7H # 220-01 [20,0009 x 237 x84 3]= 38,640
W - wEAH - Ve - VS 9n] - ZEr]E 9]
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8 AR THAA

REE

W) =
) =9

5) 2 Q)54 )
il

6) 54454
7 SR A

Wb AR RLT
oh) AL e

|5 LR PRI
1) YRk
7h A3
) il
2) Evjj A n]
3) -9
7h FA3
W F7h
4) =jofn]
7h
W) =
o) =9
5) AA54]
6) 599

77
b AR
b AT TR
b ST

o St A 2 e
1) kg v]
7h A
) el
2) S22
3) FAg73H]
7hH #A S

Ho
e
o,
[

=A%

220-01
220-01
250-02

FTEY | 250-03
250-03
250-03

210-01
210-01
210-05

210—-15
210-15

220-01
220-01
220-01
250-02

250-03
250-03
250-03
250-03

210-01
210-01
210-05

210-15

S

50,0009 X 237 x 283] =
80,0009 X237 X 103]=
100,000 x12€¥=

60,0001 x 17 x 124
60,000 x 1 x12¢¥
80,000 x 17 x 124

1,200,0009 =
499,000¢ x 327 =
9,000¢ X321 x 253 =

400,00091 x 129 =
5,000 x4 x 129 =

20,0009 X 327 X 473] =
50,0009 x 329 X 173] =
80,0009 X 328 X 63]=
100,000 x12€¥=

150,0009 x 38 x 129 =
80,0009 X 21 x 129 =
60,0009 x 2% x 12¢ =
100,000 x 17 x 129 =

1,200,000l x 18 x 13] =
4990009 x 119 X 13]=
9,000 X117 x483] =

250,000 x 1 x 129 =

202549 (A)

32,200
18,400
1,200
2,400
720
720
960
113,208
17,168
1,200
15,968
7,200
5,040
4,800
240
72,640
30,080
27,200
15,360
1,200
9,960
5,400
1,920
1,440
1,200
48,641
6,689
1,200
5,489
4,752
3,000
3,000

20243 (B)

— 7]1229H - 718729
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SEAA EE A Ay (Te] - A 9)
=]
s RERE L e 20259 () | 20249 (B) | ZFHA-B)

4) =)o) 33,000
7hH #y 220-01 [20,0009 x 117 xX603]= 13,200

W} T 220-01 |50,0009 x 117 X 203] = 11,000

) 9 220-01 [80,0009 x 11 x 108]= 8,800

5) AT =7 250-02 |100,0009x 14 x12¢= 1,200

3. 7] B9 AN 224,844 245,872 221,028

7k AR A B ] 1A 35,560
1) gxEEar|eaa 210-07 |300,00091 % 12€ X 4t]= 14,400
2) F4=7)2g 210-07 |40,0009 x 126 x 12€= 5,760
3) = va] 6%y 210-09 6,000,000 x 13] = 6,000
4) FAFZA}E 210-09 |2,000,0009 x 18] = 2,000
5) AF-L7AFE A B 210-09 |150,00091 x 129 = 1,800
6) AFe]otA B AL oln) 210-09 |150,0009 x 129 = 1,800
7) A A &H] B 210-09 |150,00091 x 129 = 1,800
8) FHAFLA}ER QLA 7 A 210-09 |2,000,0009 x 18] = 2,000
L AT A 2 37,796
1) $9¢= 210-01 |50,0009 x 35% x 28] = 3,500
2) A=) 210-09 |27,296,0009 x 18] = 27,296
3) HA}u) g e 210-09 |350,00091 x 128]= 4,200
4) 3ZA L EQAAA LA 210-13 |1,400,0009 x 28] = 2,800
ok g A v 3,800
1) 22 A AR 210-09 |500,0009 x 1= 500
2) ol Au| g 210-13 |275,00091x 129 = 3,300
2 BEAFe Y 15,702
1 t¥8 %54 (20,000kmo]”d) 210-10 |7,824,0009 x 1tj= 7,824
2) o) 5WM2A$9n) (10,000kmu]§H) | 210-10 7,878,0009 x 1= 7,878
uf. AHEERE 7R 35,940
1) AFEEA 430-01 |1,150,0009 x 14¢t)= 16,100
2) EE 430-01 |1,400,0009 x 3t} = 4,200
3) ZE (A4, E ) 430-01 |450,00091 x 12t)= 5,400
4) APS-go) 2} 430-01 |300,000¢ x 10t = 3,000
5) AFEg A 430-01 |500,0009) x 4tj= 2,000

— 7|®$u] — 7|7 R0 51/62




SENE

6) A=t
7) e
8) AFEYH
9) 7HuA
Hh, A8 )

1)

3) 4
4) W&
5) WS
6) =AY H]
7) FETY ]
8) ¥ EH]|

T

ol
ofo
12
il

>
of
ofl
ko
1l

)
2

=

&
o
ox S Tl N

ofN bt 1l ofmt mly ap
2
=

430-01
430-01
430-01
430-01

210-01
210-01
210-01
210-01
210-01
210-01
210-01
210-03

210-02
210-09
210-13

210-09
210-13

210-02
210-02
210-02
210-02
210-02
210-02

210-01
210-01

A=y

240,0009 x 3t} =
400,0009 X 4] =
250,0009 x 4tj=
192,0009 x 10th =

50,0009 X 10F x 23] =
15,000¢ X 80+-=

23,0009 X255 x 129 =

50,0009 X 10%-=
100,0009 X 3A E=
15,0009 X509 X 23] =
20,0009 X 10%F x4 3] =
400,0009 X 6™ =

50,0009 x 13] =
100,00091 x 53] =
180,000 x 128 =

500,0009 x 23] =
297,0009 x 129 =

4,000,0009 x 129 =
1,000,00091 x 129 =
400,0009 x 129 =
250,0009 X 23] =
556,000 x 129 =
110,000€1 X 20 =

30,0009 X 10%=
9,000 X 200H X 13] =

202549 (A)

720
1,600
1,000
1,920

14,600
1,000
1,200
6,900

500

300
1,500

800
2,400
2,710

50

500
2,160
4,564
1,000
3,564

74,172

48,000

12,000
4,800

500
6,672
2,200

154,241
154,241

51,020

300
1,800

52/62
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1BE AZAE QT A

7187 ASSEAA G wSH A (29 - AY)
goivy S0 | 55| AT RERE A= Az 2025 (A) | 20249 (B) | F7HA-B)
oh) 3442 210-01 |1,000,000¢ x 33] = 3,000
2 A7y ETE 210-01 20,0009 x2%Fx 129 = 480
ul) S22 A ZH) 210-04 15,0009 X650 X 123]= 39,000
vh) A9 210-01 |50,000¢] x 8% x 53] = 2,000
AP 7] 3-8 o FEF%11) 230-01 220,000 x12¢9= 2,640
o) A MF I8 A1) 250—02 150,000 x1% x12¢= 1,800
2) YRk n] 3,200
7H 7134 210-01 [120,0004 x103]= 1,200
) il 210-01 |100,000¢ x 107 x 23] = 2,000
3) =diofn] 8,280
7hH ) 220-01 20,0009 %174 x123]= 4,080
) =y 220-01 50,0009 X 14 X 63] = 4,200
4) :ﬂjﬂoltﬂx.ﬂ,q] 40,282
7H AL HF 210-02 [100,0009 x 129 = 1,200
L) ClE Y ZEAIH] 210-02 |400,0009 x1249= 4,800
o A71e+ 210-02 2,400,0009 x12¢ = 28,800
th gdE= 210—-02 |24,0009x12€= 288
up) AEEE o 210-02 160,000 x123]= 1,920
v 7} AQ 210-02 (240,000 x12¥9= 2,880
A FFARAS R 210-02 |50,0009 % 13]= 50
o) AARZRI & 210-02 300,0009 x 13 = 300
2 ARG 210-02 [22,0009 x23]= 44
5) ANA=AEE9| 11,021
7 F-ol7n|g-oin) 210-13 325,500 %x129= 3,906
) 2Hka) A #a) ) 210-13 |154,0009x12¢9= 1,848
th 5747) 64 KB 210-13 133,000 x129= 1,596
) A7|rd T gy = 210-13 |155,8709x129= 1,871
u}) Ake] ok 7 a] o n) 210-13 |150,0009x129= 1,800
6) Al A 82| B2= 31,438
7H A7 210-09 240,000 x129= 2,880
W) dsas 210-09 |300,0009 % 53] = 1,500
o E¥IAdA 210—09 |220,000¢ x 23] = 440
WS - WFYE - 7 HEY - 7] EEGH] - 78729
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7138 ARSEAA G w5 A A (5] : W9
= i=]
goivy S0 | 55| AT Ao B 50 20259 (A) | 20249(B) | Z7HA-B)
2h) AN -5+ e 210—-09 |170,00049 x 123] = 2,040
up) A4 8] 210—-09 |50,000€ X 10% < 83] = 4,000
Hh) A€ 87 7)) A 5= 1) 210—-09 |1,000,000¢ x 53] = 5,000
AD Ak E 210-09 |200,000¢ x 133]= 2,600
o) BiAlr|elg = 210-09 180,000€¥ x1thx123]= 2,160
1) FAZANL = 210-09 |38,900€ x 15t x 129= 7,002
b H) g e 210—-09 15,9009 x 207 x 129 = 3,816
7) HET9 9,000
7H 9F&75FE 430-01 |1,400,000€ x 2t = 2,800
) =@gn A 430-01 |2,000,0009 x 1¢]= 2,000
th 2 7] A H 7] 430—-01 |4,200,0009 X 1t}= 4,200
5. 5=SAFAE LY 203,114 203,020 94
7h. 7171 -4 7 ) 23,876
1) $£98= 210—-01 |100,0009l X 10% X 53] = 5,000
2) A5 A2 210-01 |100,0009 X 5% x 203]= 10,000
3) AL n] 210—01 |100,0009 X 10% x 23] = 2,000
4) BALGFoEE 210—-01 |50,0009 X 20% x 28] = 2,000
5) W& 210—01 [100,000¢ x 4™ x 43]= 1,600
6) ¥ En) 210—-03 |300,0004¢ x 27 x 23] = 1,200
7) B2l 210-05 9,000 x 8™ x1038] = 720
8) 9|3 230—-01 |15,000¢ x 8™ x 1038] = 1,200
9) ANV ET =S 210-01 |13,0009x129= 156
L}, o] 10,800
1) ZHh] 220—-01 |20,000€ x 8™ x 303] = 4,800
2) & 220-01 50,0009l x84 X 158 = 6,000
o 3T oTUAA 72,100
1) A7) e+ 210-02 |5,000,0009 x12¢9= 60,000
2) Asta 210—-02 |200,0009 x 129 = 2,400
3) Ao 210—-02 |200,0009 x 129 = 2,400
4) ClE| Y E AN 210—-02 |600,0009 x 129 = 7,200
5 AARZRIAZ 210—-02 |100,0009 % 13]= 100
2}, A8 29 ehg-olu) 18,270
W - AFA - 7 HRd - VS - 78S g
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719y ARSEAA B9 057 9 (k9] : 319
X [e) 1=}
Hopny ;‘3} jj 3;3 ﬂg PARSIELS CE o] 20254 (A) | 2024€(B) | $%(A-B)
1) A7]ekA #e] ) 210-13 |230,0009 x12¥= 2,760
2) F-Q173u]L-o3n) 210—-13 |140,0009 < 12¢¥= 1,680
3) 2HkA A P n) 210-13 |160,0009 x12¥= 1,920
4) 5771 210-13 |330,0009 < 12¢= 3,960
5) A 210-13 |150,0009 x 53] x 13]= 7,950
w}. A1 g A ] 78,068
1) AALAY] 54 g 210-09 |110,0009 x12¥= 1,320
2) A7) 210-09 40,0009 <6t x 12¥= 2,880
3) AEALE 210-09 |350,000¢) x53]= 1,750
4) B33 210-09 |500,000¢] x 23] = 1,000
5) AALARE 210-09 |300,0009 ¥ x12¥= 3,600
6) EAL7A = 210-09 200,000¢€ € x2thx 129 = 4,800
7) A Zgn) 210—09 |100,000¢ X 20% X 253] = 50,000
8) 7188714 210-09 |25,0009 <164 x129= 4,800
9) HlH el = 210-09 |16,0009 x 29t x12¢= 5,568
10) E9|o] %) 5-%] 210-09 |2,350,0009¢ x 13]= 2,350
AZSPA 7 BA R 83,649 4,003,874 23,920,225
7| BA A SR B 83,649 4,003,874 23,920,225
1. 2 GFAA 17,840 4,003,874 23,986,034
7h e H 17,840
1) A4 17840
7 A AN A 420-03 |17,840,0009 x 14 = 17,840
2. A&7 BAA 65,809 0 65,809
7}, w2 40,208
1) AAm] 420-02 |37,980,000¢1 X 4.763%= 1,809
2) A4 87,980
7H Fd g oA st AE (24 420-03 12,660,0009 x 34 = 37,980
3) Al ) 420-05 |37,980,00091 % 1.103%= 419
U BESYEdE A 25,601
1) AAn] 420-02 |24,120,00091 X 4.966%= 1,198
2) A12v] 24,120
7hH gddd oAy AE (Z2YE) | 420-03 |4,020,0009 x 64 = 24,120
TE - LKA - 7)Y - B BAE - 7 BA LA B 55/62




718 A4 IA

7137 - AR SEAA B w5 X 2 (Te] - A 9)
RED S =]
goivy S0 | 55| AT NEERE 2 4% AU 20259 (A) | 20246 (B) | Z7HA-B)
3) Al F-ofv] 420-05 |24,120,0009 X 1.173%= 283
5,190,593 4,775,473 415,120
H] 5,190,593 4,775,473 415,120
Q17| 5,190,593 4,775,473 415,120
5,190,593 4,775,473 415,120
407 5,190,593 4,775,473 415,120
IEFFFR AU AN H 5,190,593 4,775,473 415,120
7}, wl sk Q1] (4 8HA Al E) 37,041
D 715 110-04 1,986,0009 x 1% x 1271 4= 23,832
2) w2 110-04 | 150,0009 x 1% x 129 = 1,800
3) WA F 7 110-04 850,000 x 17 x 23] = 1,700
4) 714+ 110-04 |250,0009 X 19 x 23] = 500
5) Azl 110-04 |84,000¢ x 19 x15%U= 1,260
6) BrE A 240-02 |1,000,000¢] x 1% x 13] = 1,000
7) HAAHT 320-12 |3,436,0009 x 11 = 3,436
8) ARV A I+ 320—12 |31,000,0009 x 1% x11.33%= 3,513
. 21 (Wee) AEALS] E- 2] AFR] 74 1] 52,171
D 7= 110-04 [2,186,0009 x 11 x 129 = 26,232
2) 2559 110-04 5850009 x1% x12¥= 7,020
3) 2211 110-04 150,000 x 14 x 129 = 1,800
4) 7VESG 110-04 40,0009 x 1% x 129 = 480
5) WAHAFIIR A E 110-04 850,000 x 17 x 23] = 1,700
6) A7|Ako 110-04 |500,000¢ x 1% x 23] = 1,000
7) ZIpLI=Tr 110-04 |167,7209 x 17 x 10A13k= 1,678
8) Axp=oF 110-04 [111,8109 x 179 x22%= 2,460
9) ub=3 2 2)n) 240-02 650,000 x 1% = 650
10) 9EF3F H5A0] (A7 %14]) 240-02 |350,0009 x 19 = 350
11) §AA=HF 320-12 [48,000,0009 x1/12= 4,000
12) A Rnd7| A K I+ 320—12 [42,369,2009 x11.33%= 4,801
t} 9] (Wee) ATE] 734 2] AFQI 2 1) 45,149
1) 71&% 110-04 [2,186,0009 %1 x12¢= 26,232
2) 25579 110-04 |58,5009 x 18 x12¥= 702

718F — 13H] -

An) - ZRAAAY - BFFFA

(e
rO
)
=
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8 AR THAA

7134 ARSEAA F D S A A (5] : W9
RE B =]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
3) F211] 110-04 |150,000¥ X1 x12¥= 1,800
4) V&4 110-04 |40,0009 x14 x12¢¥= 480
5) AFFod 110-04 |240,0009¥ X1 x12¥9= 2,880
6) HAFIIRAZF 110-04 |850,000¢ x 1% x 23] = 1,700
7) A7) = 110-04 500,000 x 17 x 23] = 1,000
8) Z LIk 110-04 |138,6109 x 1% x 104 7= 1,387
9) A5 110-04 92,4109 %1% x159= 1,387
10) EFHA1] 240-02 |650,0009 x 14 = 650
11) 5AAz7= 320-12 |36,000,0009 x1/12= 3,000
12) AR 7| ARG+ 320—12 |34,687,1009 x11.33%= 3,931
2t 9] (Wee) AlE] A Z2FGAFI 741 99,217
D 71 110-04 |2,186,0009 x 2 x 129 = 52,464
2) 2579 110-04 477,750 %29 x 129 = 11,466
3) 241 110-04 |150,0009 x 2% x 129 = 3,600
4) YHAFIIRAT 110-04 | 850,0009 x 27 x 23] = 3,400
5) A 7)Ao 110-04 500,000 x 27 x 23] = 2,000
6) ZIpLI=ck 110-04 |165,4809 x 2 x 1041 3k= 3,310
7) AxSoF 110-04 |108,2009 x 21 x 209 = 4,328
8) P& HAH] 240-02 |650,000¢1 x 2 = 1,300
9) HAAHT 320—-12 |96,000,0009 x 1/12= 8,000
10) 4 1n7 | AFIG= 320—-12 [41,255,8009 x 27 x11.33%= 9,349
n}, 58 A Qb X AR A H] 544,491
D 71¥5 110-04 993,000 x 25 x 10¥ = 248,250
2) +5TT 110-04 1200,4609 %257 x 129 = 60,138
3) F4H) 110-04 |150,0009 x 257 x 10 = 37,500
4) 7V&E5 110-04 |47,2229x18% x 129 = 10,200
5) AZF/IRAF 110-04 |850,000¢ X 257 x 23] = 42,500
6) A 7)Ao = 110-04 | 250,0009 x 259 x 23] = 12,500
7) Axpor 110-04 [855,3209 x 257 x 13]= 21,383
8) W=7 1 x]H| 240—02 |650,000¢ x 25 x 13| = 16,250
9) SEFEAY] (A7) 240-02 |350,00091 X 147 X 13| = 4,900
10) B Q4"+ 320-12 |1,530,5209 X 25 x 13] = 38,263

716} — 1dH] — A1AH] — ZEARI AN — S FHF A A AH] 57/62




718 AlEdE LT S A
(9] 1 9)

o @+ A - S
of H s At Atel AU & A5 A= e 20259 (A) | 20249 B) | SH(A-B)
11) 4|1 g7 a8 G+ 320—12 [18,572,6399 X259 x11.33%= 52,607
uh, wl gkl dn] (w52 4%) 32,512
1) 718+ 110-04 |1,737,7509x 18 x 128 = 20,853
2) F21n] 110-04 [150,0009x 19 x12¢¥= 1,800
3) HAZ R A 110-04 [850,0009 X 11 x 23] = 1,700
4) 7)Ao+ 110—04 [250,0009 X 17 x 23] = 500
5) A}k 110-04 69,5509 %1% x 17 = 1,183
6) WE=E E 2| 240-02 650,0009 x 1= 650
7) AR+ 320—-12 [2,619,0009x1%= 2,619
8) 4RI 7| BRI+ 320-12 28,300,0009 X 11.33%= 3,207
Ab m sk An] (Bha) 779,262
1) 71&= 110-04 |1,208,5849x38M x10¥= 459,262
2) F2H) 110-04 [148,421 %38 x10€= 56,400
3) 7tEard 110-04 |15,2639 %38 x10¥= 5,800
4) HAFIIR A 110—04 |1,476,3109 x 389 = 56,100
5) A7)+ 110-04 |434,21090 %389 = 16,500
6) Axg 110-04 [60,0009 %389 x10%= 22,800
7) GrEE E 2| 240-02 | (650,000€ X 20%) + (1,000,000 x 18%) = 31,000
8) XA 320-12 1,900,000¢ x 381 = 72,200
9) 4| LI 7| BRI 320-12 |522,506,6199 x11.33%= 59,200
o, WEAFLALQI AN 2,408,395
1) 718 110—04 |1,986,0009 X478 x 129 = 1,120,104
2) &H5TT 110-04 |746,3939 %479 x12¢9= 420,966
3) F2H] 110-04 [150,0009 X479 x129= 84,600
4) 7V=ESG 110-04 [40,2129 X478 x12¢9= 22,680
5 WAZIR AT 110-04 [850,0009 X474 x 23] = 79,900
6) A7) 110-04 [500,000¢ x 477 x 23] = 47,000
7) ARG 110-04 |2,444,0219 X479 = 114,869
8) WE& HE 2)n) 240-02 |858,51091 x47 %= 40,350
9) Bl rAgYZ 320—-12 |5,690,744 9 x 479 = 267,465
10) At 27| B+ 320—12 |1,857,555,0008 x11.33%= 210,461
A}, 38 ARl 7 w) 56,545

718F — 13H] -

A8 - 2EADNAY - BEZFAAAAY]
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7134 ARSEAA F D S A A (5] : W9
2] A [¢) H
goivy S0 | 55| AT NEERE 2 4% AU 20259 (A) | 20246 (B) | Z7HA-B)
D 7= 110-04 |1,986,0009 x 11 x 129 = 23,832
2) &5 110-04 [858,0009 x 19 x 129 = 10,296
3) &1 110-04 [150,0009 x 19 x 129 = 1,800
4) NS4 110-04 |140,0009x18 x12¥= 1,680
5) HAEZIIE A 110-04 |850,0009 % 11 x 23] = 1,700
6) A7+ 110-04 |500,0009 X 1§ x 23] = 1,000
7) 2RSS G 110-04 [171,9109x 19 x20U= 3,439
8) Ax 110-04 |114,61090 %18 x259= 2,866
9) 43 H 2)n) 240-02 650,0009 x 1= 650
10) g§rA=8 =+ 320—-12 14,000,0009 x 1% = 4,000
11) 49237 dRrad+ 320-12 [46,612,2009 x11.33%= 5,282
P e I R B PG R 212,095
D 71¥5 110-04 (2,321,17590 x4 x 128= 111,417
2) &5 110-04 [193,4319 x4 x12¢¥= 9,285
3) 41 110-04 |140,000¢1 x4 x12€= 6,720
4) 71etgd 110-04 [689,970¢9 x4 x12¢¥= 33,119
5) WAS/IRAF 110-04 |1,392,705¢ x 47 x 23] = 11,142
6) 2YLH+F 110-04 |1,183,2009 x4 = 4,733
7) BE3]E 2)n) 240-02 650,0009 x 47 = 2,600
8) A7 AN 240-02 |350,0009 % 2= 700
9) §rAYF 320-12 3,659,4009 x 4% = 14,638
10) 417 A I+ 320—-12 |156,584,0009 X 11.33%= 17,741
Fh, AREA AR 28] (8 3n) 50,586
D 71¥+ 110-04 |1,986,0009 x 14 x12¥= 23,832
2) F24H) 110-04 |150,00090 X1 x12¥= 1,800
3) &5 110-04 |780,0009 x 19 x12¢¥= 9,360
4) 718t 110—04 |5,335,0009 x 1= 5,335
5) HAZIIE A 110-04 [850,0009 X 14 x 23] = 1,700
6) 4k=3]H 2)n) 240-02 650,0009 x 1% = 650
7) B R AYF 320—12 |3,612,6509 x19= 3,613
8) 47| AR I+ 320-12 |37,917,0009 X 11.33%= 4,296
£}, Al he] 1) ( 620,415
71EF — 13H] = 171 — ZEARJIAN] — WS HFA 1]




718 A4 IA

7187 AESEAA R aSA 9% (9] - "9
2] A [¢) H
goivy S0 | 55| AT NEERE 2 4% AU 20259 (A) | 20246 (B) | Z7HA-B)
D 7= 110-04 |1,489,5009 x 220 x 129 = 393,228
2) F21n) 110-04 |150,0009 % 22M x 129 = 39,600
3) M 110-04 60,0009 % 227 x 129 = 15,840
4) AZIIR A 110-04 |850,0009 X 22 x 23] = 37,400
5) A7) & 110-04 |250,000¢ x 22 X 23] = 11,000
6) A2 110-04 |1,072,0209 x 22 = 23,585
7) WrEE B 21| 240-02 |650,0009 x 227 = 14,300
8) 717+ 7A%n) 240-02 350,000 X107 = 3,500
9) A&+ 320—-12 |1,891,8009 x 227 = 41,620
10) 41:]]3?};7 .T",_]-l?—%% 320—12 | (23.666,0209x18% x6.93%) +(23,666,020€ x 4% X 11.43%) = 40,342
5. 879 A Akl 7] 50,683
D 71 110-04 [1,986,0009 X 1% x 129 = 23,832
2) L&) 110-04 |793,00090 x 17 x 129 = 9,516
3) 2214 110-04 150,000 x 14 x 129 = 1,800
4) 9AZTIIRAF 110-04 (850,000 X 1§ x 23] = 1,700
5) A 7)Ao 110-04 |500,000¢ X 11 X 23] = 1,000
6) A2 110-04 |113,12090 %17 x23d= 2,602
7) WrE e 2| 240-02 |650,0009 X 1= 650
]) A A+ 320—12 |5,000,0009 x 17 = 5,000
9) At R & 7| ARG+ 320—12 |40,450,0009 ¥ 11.33%= 4,583
af. Al el ] (Fol A et5AE) 34,094
D 71¥+ 110-04 |1,986,00090 x 1 x 129 = 23,832
2) F21n] 110-04 150,000 x 14 x 129 = 1,800
3) 7fEFG 110-04 |40,0009 %1 x 129 = 480
4) HAZTIIR A 110-04 850,000 X 1 x 23] = 1,700
5) A7) & 110-04 |250,000€ X 11 X 23] = 500
6) Azt 110-04 81,8009 x14x13YU= 1,064
7) GrEE B 7)) 240—02 |1,000,0009 x 1= 1,000
8) HAAHZF 320—-12 |1,750,000¢1 x 1= 1,750
9) 4t & 7| bt 320—12 |28,800,000¢ X 6.83%= 1,968
7. w7 n] (G o] A & 85 AlE) 24,362
1) 718+ 110-04 |1,241,25090x 1 x129= 14,895
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718 AESHEAA T A w54 9% (5] : W9
RES o ]
goivy S0 | 55| AT Argupel 2 A% AU 20256 (A) | 20249(B) | Z7HA-B)
2) 7V 110-04 40,0009 x 1% x 129 = 480
3) w2 110-04 |150,0009 x 1 x 129 = 1,800
4) JAZIIRAS 110-04 [850,0009 X 17 x 23] = 1,700
5) A7)k 110-04 |250,000¢ x 1% x 23] = 500
6) Axfr-d 110-04 |53,600€9 x1Ex11d= 590
7) 2k E 2 H] 240-02 |650,0009 x 1= 650
8) HA AT 320—-12 |1,650,0009 x 1% = 1,650
9) 4R 7| BRI+ 320—12 |18,500,0009 x 11 X 11.33%= 2,097
Y. GFARRIAN] (G A 854l E]) 55,480
D 71 110-04 |2,186,00091 x 1% x 129 = 26,232
2) 2579 110-04 858,000 x 1% x12¥= 10,296
3) F24H) 110-04 |150,0009 x 1% x 129 = 1,800
4) 7E=5d 110—04 [109,300€9 %14 x129= 1,312
5 a2 +4 110-04 |50,0009 x 14 x12€¥= 600
6) 71559 110-04 |250,0009 1% x12¢¥= 3,000
7) 9AFTIIR A 110—04 850,000 x 1 x 29 = 1,700
R) A7 = 110-04 |500,0009 X114 x 23] = 1,000
9) A5 110-04 |129,0009 x 1 x 259 = 3,225
10) @& 521 240-02 |650,0009 x 1 = 650
1) A Rd 7| a5+ 320—12 [50,000,0009 x11.33%= 5,665
g, A FARIA] (F o] A 3 &5 Al E) 88,095
D 715 110-04 [1,986,00091x2™ x 124 = 47,664
2) 2559 110-04 580,0009 x 2% x 129 = 13,920
3) F214) 110-04 |150,0009 x 29 x12¥= 3,600
4) 2@ Ao 110-04 [99,3009x 18 x12¥= 1,192
5 3T+ T 110-04 |50,0009 x 2% x 12¢ = 1,200
6) IS 110-04 |40,0009 x29 x129= 960
7) HAZ R A 110-04 |850,0009 x 29 x 2¢= 3,400
8) A7 110-04 |500,0009 x 2% x 28] = 2,000
9) A4 110-04 |108,0009 x 27 x 192 = 4,104
10) 933 2 1)n) 240-02 |825,0009 x 2% = 1,650
1D) 4R 7| A g+ 320—12 |34,000,0009 x 29 X 11.33%= 7,705
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